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1. Top n Clien ts Accounting for Half of the
Total Sales in This Year

1. Problem

The table below is the historic sales contracts of an enterprise:

Contracthoactual sale SellDate ProductOuantities Amount Client Applyvareaspplyiethod
10023 ¥ 2003-05-03 74 1147 | 526151600 JX IPM RESELE
10023 30 2005-08-10 23 1789 | 7156000 JPH IPM RESELE
10043 23 2003-03-10 45 50 51440000 ALLIANZE GER SELF_USE
100a1 20 2003-08-10 a0 742 543,035.00 CMPC CHMN RESELE
10077 24 2005-08-10 45 3139 | $904,03200 G ITA RESELE
10036 14 2003-08-10 45 1412 | 540665600 ARAMCO K54, SELF_USE
10093 27 2003-08-10 45 22 £5,280.00 ARAMCO [t SELF_UISE
10105 17 2003-03-10 il 744 550,352,000 HOMDA IPM RESELE
10119 16 2005-08-12 29 3854 | 53854000 BP GBR RESELE
10125 3 2008-058-15 f 52 $1,04000 TOYOTA, IPM RESELE
10135 3 2003-05-15 = 83| 51565400 PANASOMIC JPM RESELE
10139 27 2005-08-16 1 21091 584 36000 WO GER SELF USE

The table below is the Client table:

Abbr MName City State Country saleGoal
AAPL Apple Inc. Cupertino California United States 16
ALLIAMNZ  Allianz Munich Munich Germany 26
ARAMCO  Saudi Aramco Dhahran Dhahran Saudi Arabia 20
A, A, Paris Paris France 25
BALC Bank of Arerica Charl otte Morth Caralina United States 15
BP BP Londaon Londaon United Kingdarm |17
BRE Berkshire Hathaway Ormaha Mebraska United itates 21
() Carrefour Levallois-Perret | Lewallaois-Perret |France 20
CARGILL | Cargill Wayzata Minnesota United States 16
CMPC PetraChina Beijing Beijing China 20
Cop ConocoPhillips Houstan Texas United itates 16
e Mhesram San Barinm ralifarnia lHnitad States 1A

Clients ranked by sales value in a certain year. The top n clients accounting for half of the
total sales value is called as Key account. Please list the key account of this enterprise in the year
of 2009.

2. Tip

Rough train of thought: Firstly, filter the Contract data, retaining only that of 2009. Then
group the Contract table by Client, compute the total sales value achieved by each client and
arrange the results in descending order, then work out the half value of the total sales value.
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Finally, scan this table and aggregate sales value during this process till reaching half of the total
sales value. Then, the a few top clients will be the key accounts.

Filter the Contract records, retaining the data in the 2009.
Group by Client for the screened table. Then, the sales contract of each client will be
grouped together, and a new Client level will be generated.

3. Sum up the amount of each group in the Client row.
Sort the Client groups by the amount in ascending order

5. Shrink to the Client level. Then append a 0-level slave row, and compute the total sales
volume of all clients, that is, half of the total annual sales value.

6. Sum up the amount of Clients one by one.

7. Filter the Client groups, retainint the clients whose sumup-amount is greater than half of
the total sum.

8. Join the name of top n clients from the Client table with the Client group by
abbreviation name.

3. Solution
1. Filter
ol .Y B H (] E F 5
- 1 ContractNoActual sale SellDate ProducdtOuantities Amount Client  Aj
10023 7 E003-03-05 74 1147 | #261,516.00 IX JF
4 5]
Condition
5 QK C
& i Cellvalue e 1
7 _ K
) Expression  [vear(i@i==2008 -
g K
Shioy
5 Action to unsatisfied band .
10 . 6]
m Delete i Hide
11 JF
1z Artion scope IF
13 |7{§} Wiork scope i Under parent row
14 ]
15 JF
1/ 10163 29 2008-03-19 51 a7 $10.266.00 |RDSA 6]
2. Group
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o)l A B C o E F i
- 1 ContractMoActual Sale SellDate ProductOuantities  Amount Client App
120583 9 2009-01-02 45 1176 | 5282,240.00 WO GEF
3 12101 o av— E' GEF
4 12121 LI5e
- 12105 Sort hefore group Ok sz
& 12157 [ |Use Locale Cancel GEF
7 12145 [ Regroup CHE
i 12181 LI5e
a 121581 15
10 12193 —e= - e ITA
11 12206 4 2009-01-10 268 g 45880.00 |5ZE FR#
3. Calculate the Sum of each Client
a2 I R
te ProductOuantities Amount Client ;
FiF3hsumi) JAAPL
19 25 502 514056500  A4aPL 115
4. Sort
0J ]2 S R O A T
- 1 ContractMoActualSale SellDate ProductOuantities Amount Client m
$882,126.00 f2APL
L 3
L 4
L 5
L £
L 7
L 8
L q
L 10
: 1 Action scope
12
o Work scope i Under parent ronw
L 13 R
- [|Uselocale K
L 15 — H
h 1& 12E77 CRelplnl=Mpk Mgy AN AR SR EES AN ALTTARMT i~FD
5. Shrink and Calculate
o - o R I A0 T ]
| 1 |ContractMoActualiale SellDate ProductOuantities Armount Client &
- — =/F3 L sumi)2
1+ 3 $440,168.00 TOT
e 13 £447 £90 00 AR NG
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6. Sumup

o | e | |oc |p—

e ProductOuantities  Amount Client ApplyAreaspplyilethod

541,361,627.00
$440,165.00 TOT =F3+42[H3 -1 ]|

$447,£20.00 SAMSUNG
$490.360.00 'COP

7. Filter
c [ o | e | G O R
ellDate ProductOuantities  Amount Client ApplyAreaspplyilethod
$41 361 627 .00
3440,163.00 TOT 4440,165.00
%447,620.00 FSAMSLING %G857,783.00
r |
Condition QK
i Cellvalue Cancal
m Expression @PF2| -
Show
Action to unsatisfied band
i Delete i1 Hide
Action scope
i Work scope i Under parent row
51 164 730 NN FNI £17 757 357 0N
8. Join
2|2 | o B D G
L 1 ContracthoActual 3ale SellDate ProductOuantities  Amount Cl
b= 2 441 361,627.0
2018,110.00 EDA!
13 $2,184,260.00 TESC
27
38 @ |Left join 0K 0 Yo
50 0 Tack
- i Full jain Cancel o HFO
75 0 TaRe
89 0 GLER
105 T AT naT U0 SING
4. Result



I]E RAQSOFT
Innovation Makes Progress http://www. ragsoft. com

ol |2 | A B ‘ C | D | E ‘ F | G | H | |

Il 1 ContractMoActualfale fellDate ProductJuantities  Amount Client ApplyAreaspplyMethod

[2- 2 $41 361 527 .00
L+ 3 |Eon $2,018,110.00 [EQAR 541,660,344 00
L+ 13 |Tesco %2,184,260.00 TESCO 443,844,604 00
1+ 27 ||Mestl™ 42,197,655.00 THESH 546,042,262 00
L+ 3% | “olkswagen Group 42,286,744.00 Feow 345,529,005 .00
L+ 50 Mckessan Corporation 42,304 630,00 'II.I'II:K #50,633,636.00
L+ 67 ||Hewlett-Packard 52,416,642.00 'HF‘EL 453,050,278 .00
L+ 75 | cargill 42 520,936.00 'CARGILL 455,571,214 .00
1+ g9 | Glencare 42 561,158.00 'GLEN $58,132,372.00
L+ 105 | Sinopec £2,742 53400 "InOPEC $60,874,906 .00
L+ 118 [Honda 42,809 560 .00 'HEINDA $63,684 466,00
L+ 128 |(Allianz 52,674,572.00 '.'&LLIANZ $66,559,333 .00
L+ 143 | General Electric 43,035,240 00 rGE 469,594 575 00
L+ 160 | PetroChina £3,163,134.00 TP 472,757,712.00
L+ 172 |[Toyota Motors 43,185,205 .00 TovoTa 475,946,005.00
L+ 192 [ Gazprom £3,338,522.00 'G.EZF‘ 479,234 530,00
L+ 208 [ GDF sSuez £3,438,724.00 ”SZE 482,723,254 00

2. Stock Rise to the Specified Rate for 3
Consecutive Days in a Month

1. Problem

To list the daily closing price record of a stock exchange in a month, in which the , CODE

column is used to contain the stock code, DT is the date, and CL is the closing price level.

o1 A B | C |

- 1 |oT CODE rL
L | @ |0L/05/2012 FAKDDESSZETS  $21.48
L | 3 |01/03/2012 FAKDOS298633  $77.23
1 | 4 |01/03/2012 FAKDDS32681E  $6250
1 | 5 |01/03/2012 FaKDOZELlS0E  §7.27F
1 | & |0L/03/2012 FAKDODISIOZS  $6.54
L | 7 |01/03/2012 FAKDOSO7TIEE  $6.79
1 | 8 |0L/05/2012 FAKDDS201268  $2567
1 | 9 |01/03/2012 FAKDOOS20356 5748
L | 10 |01/03/2012 FAKDDA9ETILE  $74.21
1 | 11 |01/03/2012 FAKDOS4607E7 | $19.54
b1 aa J01/ME/2012 FaR0ZTIEIEL | %612

=

-

Please select out the stock rise at least 3.5% for 3 consecutive days in this month.

2. Tip
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Rough train of thought: Sort the record by code and date, and group by the stock code. Thus,

you will g
downs for

et a monthly price list of a stock. In this way, you can easily compute the rate of ups and
each stock. By comparing the rate of ups and downs, you can judge if the stock rises to

the specified rate, and make the final statistics on stocks rising to the specified rate for 3
consecutive days.

1. First, add 2 columns to the cellset to calculate the rate of ups and downs comparing with
that of the previous day, and the consecutive days of rising.

2. Sort by code and date in the table. The purpose of this operation is to guarantee the
grouped sequence in the step followed. In each group, the data is sorted by date.

3. Group by stock code in the table. Because the table is already sorted by code, no sorting
will be performed again.

4. For each record in each group, work out the rate of ups and downs. Please note if this is
the first record in the group, then there will be no previous record. The rise and drop
shall be taken as 0.

5. For each record in each group, calculate the consecutive days of rising at least 3.5%.
Then work out the max consecutive days in each group.

6. Select the stock rising at least 3.5% for consecutive 3 days for once or above times, and
retrieve the code.

3. Solution

1. Add Columns

A

a7

11,/05/2012 | FAKDDESE2E73
11,/05/2012 |FAKDOS299655 W Property
11,/03,/2012 |FAKDDE326518

Altosize
11,/03/2012 | FAKDD2611906
11,/05,/2012 | Faknoosssozs Hide
11,/03,/2012 | FAKDOSS77183 Shiow
11,/03/2012 | FAKDDB201265
/03/2 & Insert calumn

11,/03,/2012 | FAKID0S 20386
11/03/2012 | FAKID4957118
11,/03,/2012 | FaknoSa60757 Femave column

2.

CODE ol = Copy Cirl-iZ

LU

4 Append column el

Sort
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0]l [ (] E
- 1 OT CODE CL
01,03,/2012 FAKDDES32873 521.48
3 0
4 ] Cell Ast oK
6 d A2 cancel
7 I
g | Jp
g i
Criry
10 I
11 (A rAction scope
12 (4 | om0 Work scope i Under parent row
13 I
14 |q []Uselocale

3. Group
0|1
- 1
5
4 |0L/05/200 [T]/Sart hefare graup oK
5 | 0L/06/20
6| 01/09/20 [JVUse Locale cancel
7 |or/oge00 [ Regroup
& |0L/1L/20
g |0L/12/20

an m M2fNT2? L FARNNMT ARELR | S1N7 A5

4. Calculate rate of rise

o2 s | b o e

L- 1 DT CODE CL

1- 2 FAKIOD168643

3 |01/03/2012 FAKDOOLES643  $8351

01/04/2012 FAKIOOLES643 54 46 [ifi#==1,0,{C4-C3)/C3)
5 |01/05/2012 FAKDOOL6E643  $62.54

= A e A e e e e e A -

5. Calculate the consecutive days
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o1z & B C D _
- 1 DT CODE oL
1- 2 FAKIOD168643
3 |01/03/2012 FAKDOOLES643  $8351 0.00%
01/04/2012 FAKIOOLE3643  $84.46 1145 [if(D4<0.035,0,E3+1
5 |01/05/2012 FAKDOOL6E643  $62.54 -2.27%

6. Calculate the maximum consecutive days in each group

o1 |2 » : : R
- 1 |oT CODE rL
'FaKD00168643 CrEa T mas)
1 | 3 |o1/08/2012 FekooDlessss | $83SL 0.00% 0
1 | a4 |o1/08/2012 FakoODlESS43 | S34 .45 114% 0
1 | 5 |o1/05/2012 FakooDlEZsAs | $8254 2 27% 0
7. Shrink and Filter
o - T —— T
- 1 |or CODE oL
'FaKkn00165643 3
F
2 e )
44
65 Condition QK
a6 -
i Cellvalue = | w3 - e
107
Expression
128 L By
Show
149 _ .
Action to unsatisfied band
170 . =
Celete Hide
191
212 Action scope
233 mw Work scope i Under parent row
254
275
EaTu T rl:.l'\\.l?l'll'l’l k=% R p={u " 1
4. Result
o - T —— I
- 1 |or CODE oL
'Fakno0165543 3
23 'FaKD03063578 3
44 'FakD08164455 3
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3. Prepare the Olympic Games Gold Medal
List
1. Problem

The tables below records a game data of a certain Olympic Games.
The Country table is as given below:

o1 A B
- 1 Code Matian |~ |
L 2 AFiG Afghanistan —
L 3 AHO Metherlands Antilles
L 4 ALB Albania
L 5 ALG Alaeria
L A AMD Andarra
L 7 ANiG Angola
L g AT Antigua and Barbuda
L 9 ARG Argzentina
L 10 ARNM Artnenia -
h a4 AR1I Arha ol

The Athlete table records the country of each athlete, as given below:

oL A B C B
- 1 I Narme Country |(Gender =
L 2 922 Rohullah Nikpai AFG il —
L 3 443 Churandy Martina AHO M
L 4 131 Romela Begaj ALE F
L g 6l Soraya Haddad ALG F
L A 263 Amar Benikhlef ALG M
L 7 7 Paula Pareta ARG F
L a 352 luan Curuchet ARG M
L 9 975 Santiago Lange| Carlos Espinola ARG fA
L 10 1080 | Argentina Wornen's hockey Team ARG F -
h a4 1112 Arrentina Men's fonthall Team ARG Tul -

The MatchResult table records the results of matches, as given below:

10
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oL & B C B E
- 1 Competition Event Athlete  Zcore | Rank ;
L 2 Cweling Men's road race 1062349 1 —
L 3 Cwcling Men's road race 3 0582349 2
L 4 Cwcling Men's road race 4 | 0&6:23:49 3
L 5 Judao Warmen's 45 kg 5 1 1
L f Juda Wamen's 43 kg & 2 2
L 7 Judao Warnen's 458 kg 7 33
L g Judao Warmen's 45 kg g 3 3
L 9 Judao Men's 6l kg 9 1 1
L 14 Judo Men's 60 kg 10 21 2 n
h a4 lurdn Men's A0 k= 11 3. 5 -

Please make the gold medal list for the current Olympics Games, including the numbers of
gold medals, silver medals, and bronze medals of each country/district respectively; sort the list by
the number of gold medals and display the ranking. Please note that two or more countries may be
in a tie in placing.

2. Tip

Rough train of thought: First, associate Ranking with CountryCode by join the CountryCode
of the athletes in the Athlete table with the corresponding AthletelD in the MatchResult table, and
then replacing the values of the CountryCode with corresponding Country/Region names in the
Country table. After that, group the MatchResult table by Country/Region, and count the numbers
of gold medals, silver medals, and bronze medals won by countries respectively. Then sort the
groups composed of three variables: the number of gold medals, the number of silver medals, and
the number of bronze medals.

Append two columns in the MatchResult cellset to fill in the Country Code and Name.
Set ID as the master cell in the Athlete table, and set Athlete as the master cell in the
MatchResult table. Then fill in the correspoinding CountryCode in the result by join
operation.

3. Set Code as the master cell in the Country table, and reset the CountryCode as the
master cell in the MatchResult table. Then fill in the correspoinding CountryName in
the result by join operation.

4. Group the MatchResult table by Country.

5. Count the numbers of gold medals, silver medals, and bronze medals won by countries
respectively.

6. Sort the groups composed of three variables (keywords): the number of gold medals, the
number of silver medals, and the number of bronze medals.

7. Calculate the ranking.

3. Solution

1. Add Columns
11
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B g \. Z3 Copy Cirl-C
Event Athlete | 50 -
&, Paste Crl-v
Men's road race 1]06:
Men's road race Sf0e:; HH Property
Men's road race 44 0a: Autosize
Wamen's 48 kg 5 Hide
Wamen's 45 kg &
Shouy
Wamen's 45 kg 7
i
Wiomen's 45 kg g8 & Insertcalumn
Men's 60 kg g & Append calurmn G|
Men's &l kg 10
Remove column
Men's AN ko 11

2. Fill in the CountryCode by Join

o1 A

e o

L- 1 D

r

Difiles\gediCasesiMatchResult.gey -

Marme

" 922 Rohullah Nikpai

Country Gender

iAFG: 1

o1 & B C o E H G
- 1 Competition Event Athlete  %Zcore | Rank |[Code Country
Cweling Men's road race | 1 06:2349 1
4 Cvclin —
. Judo m) Lett join [o]"¢
& Juda | 3 Full jain Cancel
7 Judo
b Judo
9 ludo -

3. Fill in the Country/Region Name by Join

12
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A

r

Code

. S

Mation

T ARG i Afzhanistan .:

Difiles\gediCasesiMatchResult.gey -
o1 & B C o E F hlllllllli
- 1 Competition Event Athlete  %Zcore | Rank |[Code Country ;
Cweling Men's road race 1 062343 1 | ESP —
s | S )
4 @ Leftjoin ok |fY®
=) au
e i Full join Zancel FLIR
7 LF G
g rPN
9 Judo Men's g0 kg ] 1 1 KOR
4. Group
o)l A B C o E F IIIIIIIIIII
- 1 Competition Event Athlete  Score | Rank Code Courntry ;
Cwcling Men's road race 1 06:23:49 1 'ESF‘ ipain —
3 Cyvcling
4 Cweling
g Juda iy Sort before group K
5 Juda W [ |UseLocale Cancel
7 Judo L
g wa wl [ Reoroup
a Judo i a
10 Judo A
11 Judo MMen's 60 ke 11 3 3 "UZB Uzbekistan
anm oA~ B tm 01 L 1A k=] k=] rr\.ll:n Blmtlsm el = A -
5. Calculate the numbers of medals
oyl |z & Illlllllllllli C o E F ]
- 1 Competitian Event Athlete  Score | Rank Code Coumntry ;
L ES ) counit(==1) "ufzhanistan [
3 Taekwondo Men's S8 kg a2z 3 3 'AFG Afghanistan
4 @dbania
=) Weightlifting  Women's 58 kg 131 218 & 'ALB Albania
& gdgeﬁa
7 A Winknen's §7 ke A1 2 % Tale aleeris

6. Shrink and Sort

13
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1 Competition Event Athlete | Zcare | Rank [Code Country
2 Rank Gald Silver  Bronze Country

] 1] - Té-.fghanistan

5
! Cell A
- 2] 5C oK

E3 L]
i -3 ] Cancel
24 D3 n
Q0

Up

99
108 Down
112 )

Action scope
115

im Waork scope i Under parent row
144
£37 [ |Use Locale
172

7. Calculate the Rank

AT3

i f(B131==B3 &&C131==C3 &&0131==D3,43 #|

Difiles\gedCasesMatchResult.gey - ‘o X
012 |_ B C D E F e
1 Competition Event Athlete | Scare | Rank Code Country il
- 2 Rank Gold Silver  Bronze Country
5 51 21 28 Thina
36 35 36 ‘United States | _
265 23 21 29 'Russia
381 19 13 15 "Great Britain
245 16 10 15 ‘Germany | |
507 14 15 17 "sustralia
4. Result

14
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oLz A B C o E F ]

b o2 Rank Gold Silwer  Bronze Country ;
1+ 3 |1 51 21 28 ‘Thina =
L+ 131 |2 35 3 36 United States
1+ 268 |3 23 21 29 Russia
1+ | a1 |4 19 13 15 "Great Britain
L+ 445 (|5 16 10 15 IrGErr"nan*;.f
L+ cO7 |6 14 15 17 "sustralia
1+ 573 |7 13 10 g "South Korea
1+ 611 |3 g & 10 "lapan
1+ gs0 |2 8 9 10 Taly
1+ a4 |10 7 16 18 France -

e |11 7 5 15 Mkraine -

4. Compute The Tax Amount Of Employees
1. Problem

The finance department of an enterprise needs to estimate the staff tax of 2012. To compute
the tax, firstly, compute the FICA (Federal Insurance Contributions Act) tax base on the
employees' AGI (Adjusted Gross Income). The detail rule is as follows:

Social Security portion: if(AGI>110100, 110100*4.2%, AGI*4.2%)

Medicare portion: AGI*1.45%

Second, compute the Federal income tax. The computation method of Federal income tax is
a bit complicated: deduct Standard Deduction and Personal Exemption from the income, and
the remaining part is the Taxable Income base for which the tax will be calculated according to
the tax bracket.

The standard deduction will be calculated according to the employees' AGI and Filing
Status:

ID Filing Status StatuslD | Standard Deduction
1 Single 1 5950
2 MMarried Filing lointly 2 11900
3 Married Filing Separately 3 5950
4 Head of Household 4 gsao

The personal exemption is:
$3800 * household size
The tax rate of each period is as given below:

15
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o)1 &, B C 1] E
- 1 StatuslD Over But Mot Over | Tax Rate(’:}  Tax Plus | |
L 2 1 n g7on 10 1]
L 3 1 dvan 35350 15 a7
L 4 1 35350 85650 25 4367 5 3
L 5 1 85650 173650 28 174425
L B 1 173650 385350 33 434825 —
L 7 1 335350 35 1126855
L g 2 1] 17400 10 n
L a 2 17400 0700 15 1740
L 10 2 Fo7a0 142700 25 9735
L 11 2 142700 217450 25 27735
1 12 2 217450 383350 33 45665 -

For example, suppose a single employee’s adjusted grouss income is 50000 dollars, .
Subtracting 5950 dollars of the standard deduction, and 3800 dollars of the personal exemption,
the taxable income is 40250. According to the tax brackets, the total federal income tax is:

(40250-35350)*25%+(35350-8700)*15%+8700*10%=6092.5 dollars

You can also compute in another way:

(40250-35350)*25%+4867.5=6092.5 dollars

After the calculation of total federal income tax, we will calculate the tax credits. The Child
Tax Credit is a credit up to $1,000 per qualifying child for families making less than $130,000,
and the total credit decreases by $50 for each $1,000 earned above $110,000. The Child and
Dependent Care Credit, the maximum creditable expense available is $6,000, and the applicable
percentage is 20% to 35%, the credit is reduced by one percentage point for each $2,000 of AGI
over $15,000,

Subtracting the tax credits from the previous total federal income tax, we will get the actual
federal income tax.

The table below is the employee information table of the enterprise:

16



RAQSOFT
Innovation Makes Progress http://www. ragsoft. com

o1 A B C 8] E F G
- 1 | D Name Gender Children "€ ag | Childand =
Status Dependent Care | | —
L 2 1 Ry Price Male 2 2| 122580 1000
L 3 2 Daniel Wilson Male 1 2 134000 1]
L 4 3 lerry Wilson Male 1 2 e2800 0
L 5 4 Roger Lee Male ] 2 95000 0
L & 5 lames Gonzalez Male 0 1 50&30 1]
L 7 & Elizabeth Marris Ferale 0 1 a0000 1]
L g 7 Dawvid Cox Male 0 1 47230 1]
L g g Harold Evans Male 0 1 55080 1]
L 10 9 Mildred Lopez Fermale ] 1 41030 0
L 11 |10 Charles Gonzalez Male 1 2 135000 100
L 12 11 Kenneth Thomas Male ] 1 44370 0 |+

Please estimate the tax amount for every employee, and export the result as a TXT file for the
bank. The format of TXT file should be:

COUT= Mumber of emplforee

Tax Count | AGT | Fame
Tax Count | AsT | Fame

2. Tip

Rough train of thought:

Create a new .gex file based on the existing files.

Append a slave row in the employee's band, to calculate the tax.

Compute the FICA tax of each employee directly.

Compute the standard deduction by the filing status ID.

Compute the personal exemption.

Then compute the taxable income of each employee.

Compute the total federal income tax for every employee. Firstly, find the bracket to
which the employee belongs; secondly, calculate the total federal income tax.

8. Compute the tax credits: the child credit and the child and dependent care credit.
9. Compute the actual federal income tax.

10. Compute the tax amount.

11. Calculate the output string of each employee and the number of employees.

12. Create a TXT file

No a s~ wDd R

3. Solution

1. Copy all data into a new .gex file

17
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o)1 A, B C L E F G
L+ 1 SID Over But Mot Over Tax Rate(%) Tax =l
P+ 26 | SID Standard Deduction =
. Filin Child and
- 31 | D Name Gender  Children Smugs AGI | endent Care
L 32 |1 Ry Price Male 2 2| 1225880 1000
L 35 |2 Daniel Wilson Male 1 2 134000 1]
L 34 3 lerry Wilson Male 1 2 e2e00 0
L 35 4 Roger Lee Male ] 2 95000 0
L | 3 |5 |James ale o 1 50630 0
L | 37 |& Elizabeth Female o 1 60000 o
L 3@ |7 David Cox Male 1] 1| 47230 1]
L 3o |5 Harold Evans Male ] 1 55080 0
L a0 9 Mildred Lopez Female ] 1 41030 0w
2. Append a slave row
. Filin Child and
G- 31 D Hame Gender Children Statugs Dependent Care
1 Roy Price Male 2 2 122580 1IIIIIIIII|
33
34 |2 Daniel YWilson Male 1 2 134000 0
35
3. The FICAtax
B33 = FF32+0.0145

CovfilesigexiCasesiCalda. gex

o1 & _ C o E
32 |1 Raoy Price lale 2 21
ar2al |
4. The standard deduction
033 = F{B27}HER2Y

CovfilesigexiCasesiCalda. gex

o1 & B

32 |1 Raoy Price
AR 17872

5.  The personal exemption

lale 2 2

1

D33

L5500+ D32+ f{E32==2,2,1])

CovfilesigexiCasesiCalda. gex

o1 & B

32 |1 Raoy Price
AR

6. The taxable income

1782

lale 2 2

11@ﬂﬂ| I
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E33 — [Faz-cas-pas

CovfilesigexiCasesiCalda. gex

32 |1 Raoy Price lale 2 21
a4R74 1789 11900 5o 1
7. The total federal income tax

Fa3 = (x:{e.z}(m(Eaz*s-E,Eaz*ﬁn.pselect@z(Ea3}~],p=Eaz*r5+x-5,(Eaa-{az}(pn*{az}(py'[
O0+{E2Hp]]

CeifilesigeiCasesiCalda. gex

o1 & B C B E 5 ‘
22 |1 Ry Price Male 2 2122880 1000 | &
4624 1752 11500 15200 95780
34 (2 Daniel Wilsan fale 1 2 134000 ]

8. The tax credits

Ha3 = E{amount=if{F32-=130000,0,L000*0532), des o=i f{ F32- 110000 &&F32<130000,ceil i | [
F52-110000)/1000*50,0), amount-desc)

CeifilesigeiCasesiCalda. gex

32 Male 2 2 122880 1000 -

11900 15200 95780 16005 ZDDE

= RA—l - a R R Y Tt e sl

9. The actual federal income tax

|33 — |=|:33+ [0=23+F33-5335-H33 | I:

CeifilesigeiCasesiCalda. gex

o1 C 8] E F 5 H |- ‘

32 Male 2 2 122830 1000 i -

11900 15200 95780 16005 200 o[ ]

10. Calculate the employee info
H3z2-132 = |=string|:intil33]]+" | "+string(FI2+" | "+B32| ||:

DovfilesigesiCasesiCalda. gex

Fili . :
iling Child and 1000
Status Dependent Care :

Male 2 2| 122680 1DDDE
a3 11900 15200 05780 16005 200 1350 41555

11. Copy the employee info

b 1 Gender Children
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Child and

A Dependent Care Eil]l]l]
122880 1I:||:|E|ﬂ|1555§| Toan LA
16005 200 135 Lj SetfCancel work scope
134000 ':'43':'35§| select homocell
19735 o ; - -
: = u} Fl-
62800 0 27355 =2 ORY
SO55 1] 1|;é:| Homuocell copy Cirl+Alt-C
93000 0 3118$
11685 :
4. Result
COUT=1000 -

41555 | 122850 | Roy Price
43035 | 134000 | Daniel Wilson

27355 | 62800 | Jerry Wilsan

31185 | 98000 | Roger Lee

16000 | 50630 | James Gonzalez

18342 | 60000 | Elizabeth Morris

15150 | 47230 | David Cox v

5. Prepare Test Data for Sales Management
System
1. Problem

To prepare the simulation data for a sales management system, you are required to generate 4
txt files with a table in each file (test_Sale table, test_Client table, test_Product table, and
test_Contract table), the data requirement as given below:

The salesperson table of test_Sale is structured as given below:

D Mame Education State

In the table, there are 50 salesperson (Name and ID), 51 states (State, 50 states and DC), and
4 educational backgrounds (Education) of Senior High School, Associate Degree, Bachelor, and
Master.

The client table of test_Client is structured as given below:

D Mame Contact Address Phaone

There are 200 client records in the table.
The product table of test_Product is structured as given below:
20
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I D Mame UnitPrice

There are records about 20 types of products in the table.
The contract table of test_Contract is structured as given below:

ContractMo. Client Product ale iellDate Ouantity

There are 10000 sales records for the whole year of 2011.

2. Tip

Rough train of thought: There are two key problems on constructing the test data: first, how
to input mass of data, second, how to guarantee that the randomness of data to be inserted. You
can use the Expand operation and the expression in the homocells of esCalc to solve the first
problem and the rand function to solve the second problem.

1. Define 4 cellset constants: cStates, cNames, cSurnames, and cEducation, cStates is the
sequence of state abbreviations, cNames is the sequence of 20 common names,
cSurname is the sequence of 20 common surnames, and cEducation is the sequence of 4
educational backgrounds.

2. Construct a test_Sale slave row. In its subrows, the 1D values can be expanded from a
I1Seq which is from 1 to 50. The Name values are calculated by the expression in the
homocells whick is just select out a name and a surname randomly then concatenated
them. The values of the Education and State fields are randomly selected from cStates
and cEducation by calling the rand function.

3. Construct a test_Client slave row. In its subrows, the ID values are expanded from a
I1Seq from 1 to 200; the values of the Name field are are just concatenated character
strings and ID; the values of the Contact and Address fields are not important so you
can just use multiple “-” as values. Similarly, the values of the Phone field are not
important either, and they can be any numbers.

4. Construct a test_Product slave row. In its subrows, the rule for ID and Name values are
similar to test_Client. The value of the Price field is generated by calling the rand
function, taking 1000 as the lower limit so as to increase the sense of reality.

5. Construct a test_Contract slave row. In its subrows, the values of ID are sequence numbers.
The values of the Client, Product, and Sales fields are picked randomly with the rand
function from the above tables generated along with the ID field values retrieved. The
values of the SellDate field can be generated with the relDate and rand functions to
guarantee that the values are for the year of 2011. The values of the Quantity field are
randomly picked out within a certain range. In this case, they are picked from 1 to 5.

6. Copy the corresponding data to the new calculation cellsets, and save these files as txt
format.
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3. Solution

1. Define cellset constants

Program constant [x]
[ Marme Type Walue oK
cStates Sequence  |[ALAKAL ] —
chames Sequence | [James.John Rohbert,
cSurnames Sequence | [SmithJohngonWilliz

parami Sequence | [SeniorHigh School A
T ln

[l Walle
James —

John zancel
Robert
Michael
William =

Cravid Inzert
Richard
Charles . Delete
Joseph
10 |Thomas

11 |Mary Crowin
12 |Patricia —

(] T X

2. Construct data of test_Sale
Expand the ID values

izancel

e | LD | P | —

0] 4 ||

[

I=
(=
=

SO =l TR R | LD R | —

(=]
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A2

— |=m¢1,5|:|3

Difiles\geiCasesiCaia.gey -

0|1 B C o E F
- 1 ] Mame Education State
1234567
; 3 Il SetiCancel work scope e Phaore
L 4 Select hormocell
' 5 By copy Ctrl-C i& Expand
: o Hormocell copy |+ Al Locate
- 7 Car Ouantity
1 5 Faste Crl-A Filter
Hormocell paste Corl+AlY Distinct
Band paste Cirl-B 4| sor
Cell b Group
Harmacell 3 Align
Structure » I Join
Band ] LInian
Ciperation b Annex
Click operation b

Calculate the Name values

B2

— |=|:Names(intirand(]*20+1]]+" “+ciurnamesfintirand(*20+1])

Dofiles\gerCasesiCalia.ges -

Mame Education State

o1 A

= 1 D
1

= 2

Calculate the Education values

2

— |=|:E|:Iu|:a1:iDniintirand(]*4+1]]|

Dofiles\gerCasesiCalia.ges -

o1 A B |- B E
- 1 ] Mame Education State
1 Barbara Wilsan
E] 2 Rarhara TAwlnr

Calculate the State values
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oz — |=|:Statesiintirandi]*51+1]]

DeifilesigediCasesiCalsa.gex

o1 A B C |- E
- 1 ] Marme Educatian State
1 Barbara Wilsan Bachelar
3 ? Rarhara Tavlnr RFarhelnr

3. Construct data of test_Client

Bal

— |="I2Iient"+stringi.é-53]|

Difiles\gerCasesiCalia.ges -

+ 1 1D MNarne Education State
1D MNarme Contact Address FPhane

stringli nt( 200+ rand(FE00) 1+ - "+ stri ng(i nt{ 100+ rand {F9000)+"- "+ stringlint[10 ' I:
O-+rand {2000y

CotfilesigediCasesiCalaa.gex ;

N o " c|Cell explressinns| _
+ 1 D Mame Education State |~
- 52 ] Mame Contact Address Phaone —
1 Cliend |- e
54 |2 Client2 |- =
e = Cliamt®  leeeeee s

4. Construct data of test_Product

254

— |=i nit{randi#90 #+100+1000|

LotfilesigeiCasesiCalaa. gex :

+ 1 ] Mame Education Stz
+ g2 ] Mame Contact Add
a 253 D Marme UnitPrice
1 Productl
255 |2 Produoz
=T ] Produms

5. Construct data of test_ Contract
Expand the ID values
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8775 = |=t-:.c1|:u:u:u:|]
Ll SetiCancelwark scope =
Diifiles\geds
Select homocell T
o1 |- . =
5y Copy Cirl-C 1= Expand
+ 1 1D
. = D Homocell copy Crl+At-C Locate
- acg ol [ Faste Ctrl-i Filter
- 274 |Cant Homacell paste Chrl+ Al Distinct
12,
Eand paste Cirl-B 4| son
Cell ’ Graup
Homocell b Align
Structure * I Jain
Band ¥ LInion
Ciperation b Annex
Gllick operation 3

Calculate the Client ID values

B275 = FintirandiF200+1)

DifilesigeCases\Cal5a.gex -

+ 1 I Mame Education State
+ 52 ] Mame Contact Address
+ 255 D Mame UnitPrice
- 274 (Contrac Client Product sale 5
1
e 2

Calculate the SellDate values

EZ75 = E=after(date("1,/1,/20011"),int(ran di]*365:|1|

Difiles\gerCasesiCalia.ges -

+ 1 Mame Education itate

+ 52 Mame Contact Address Phaone

+ 255 Mame UnitPrice

- 274 Client Product Sale SellDate OuE

ﬁaa 17 2
276|185 g 27
Calculate the Quantity values
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F275 = Eintirand(*3+1

Difiles\gerCasesiCalia.ges -

o)1 C D E |-
+ 1 Education State E
+ 52 Contact Address Phione

+ 253 ritPrice

- 274 Product Sale sellDate Ouantity

ﬁ 17 42 02/22/2011
276 |8 27 12/15/2011

6. Copy the corresponding data and save as txt format

o1
- 1 I Mame Education State
Q SetiCancel wark scope
Select homaocell
=3 Copy Ctrl-C
Homuocell copy Cirl+alt-C
@, Paste Crl-y
Homocell paste Crl+A1-
Band paste Cirl-B
Zell ]

File | Edit Structure Data  Operation  Tool  Window  He

[] Mew Crl-M i|
= Dpen Crl- 0

CE

Cpen file in other format

Duplicate Crl-F 4
Close
Educatian State
Close all Bachelor D
Save ~fr-5 Bachelar aR
seniorHigh az
By Save as _
Save as other format F | Teut 1
@ Save all Excel
=g Fage setup &) HrmL
FSWE atE TR
# Mieied Tl T
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4. Result

(Since data are picked randomly, the data generated after each run may vary.)
The test_Sale table is as below:

I Marne Education State M
1 Barbara Wilson Bachelor 5D

2 Barbara Taylor Bachelor OF

3 Elizabeth Thotmas semior High School  AF

4 Thotnas Jackson Associate Degree =

5 Ilichael IWiller sendor High School MW

6 Dorothy Jackson Bachelor HE

7 Williarn Wilzon Iaster 5D

t Fichard Thotnas Associate Degree El w

The test_Client table is as below:

1D Matne Contact  Address  Phone -
1 Clhentl — ------ —----- f24-084-T478
2 Clent?  ------ —-m--- 303-867-5228
3 Clentd  ------  ------ f81-285-0168
4 Chentd — ------ —----- f46-733-4792
5 Clents  ------ ------ 357-678-0047
f Clentd  ------ ------ 038-630-8245
7 Clent? — ------  ------ 731-248-2369
8 Clentd  ------ —-m-- f27F-636-1307 "

The test_Product table is as below:

Matne UnitPrice -
Productl 7400
Product2 2900
Product3 3900
Productd 9700
Products 2700
Productd  4a00
Product? 1500
Product® 3700 "

DOM—JG\MLLAJM'—*E

The test_Contract table is as below:

Contractta. Clietit Product  Sale sellDate  CQuantity &
1 38 17 42 022272011 2
2 183 3 27 1271552011 1
3 19 17 11 05/09/2011 4
4 81 15 25 ns/22/2011 1
5 113 16 33 03/06/2011 1
i 46 5 38 07/01/2011 1
7 106 4 4 01/13/2011 3
3 4 2 43 n8/12/2011 2
0 105 14 34 ne/10/2011 3 3

6. Mean Period between the Same
Customer Buy an F-Series Pickup and an
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Escape Sedan

1. Problem

The Ford table is used to list the auto sales records:
Custarner |Model Date
FOOL1965 Fiesta 01,400 ,/2001
FOOE54E Fusian 01/05,/2001
FODE7E1 Fusion 01,404,/2001
FODA06E F-series 01,405,/2001
FOOS249 F-Series 01,/06,/2001
FOO2931 Crowen Wictoria  01,06,/2001
FOOZ198 Escape 01,/08,/2001
FOD4355 F-Series 01,/06,/2001
FOO7124 Crowen Wictoria  01,06,2001
FOOSE77 Focus 01/08,/2001
FOOS410 Escape 01,408,/2001
FOOS476 Fusian 01,/09,/2001
FN=A04 F-tarirs n1 M n&nn

Please find customers who had bought an F-Series pickup before the purchase of an Escape
sedan, and calculate the average interval of the two buys for these customers.

2. Tip

Filter the transaction records; retain the records of "'F - Series™" and "Escape”.
Sort the records in the table by Customer and Date;

3. Calculate the interval between the Date value of the current record and that of the
previous record in column D, the interval will be set to zero unless the records satisfy
the following conditions:

i. The value of Customer of the current record is identical to that of the previous
record,;
ii. The value of Model of the previous record is F - Series;
iii. The value of Model of the current record is Escape.
Filter the records; retain the records whose interval is greater than zero.
5. Calculate the average of the intervals.

3. Solution

1. Filter
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Filter (x

rCondition QK

i Cell value

zancel

) Expression  jries" || @=="Escape"|w

Show

~Action to unsatisfied band

m Delete i Hide

~Action scope

i \Work scope i Under parent row

o A — | °
- 1 Custorner  Model Date ||
FOOM06E F- Series IEIl,.-"EIS,-"EIIIEIl —
3 FOQZ249 F-Series 01,06 ,/2001
4 | FoOO2198 Escape 01,406 /2001
5 FOQ4353 F- Series 01,06 /2001
& |FoOO03410 Escape 01,408 ,/2001
7 FOQz694 F-Series 01,/10/2001
g FOOZ459 F-Series 01,/10,/2001 -
2. Sort
Sort (x
Cell Ast oK
A2
o2 zancel
Up
ity
Action scope
|7{§} Work scope i Under parent row

[ ]Use Locale
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o1 B d D
1- 1 Custormer  |Maodel Date ;
FOOLO07 F-Series 1241542007 —
3 | Foo1ong F-Series 07,427 £2009
4 | Foo1013 F-Series 08,21 /2001
5 | Foo1o1s F-Series 04,27 /2008
& |FooLozo F-Series 03,13/2006
7 | Foo1os7 Escape 04,13/2007
g |Foo1ods Escape 03,/29,/2005 —
3. Calculate the intervals
03 — Fifi2==A328B2=="F - ' I:

series"&&BI=="Escape",interval iEE,EE],Dﬂ

DotfilesigeiCasesiCalbe. gex :
0|1 A B
- 1 | Custamer  Model Date ;
2 FoOOL007 F-Series 12/15/2007 0 —
FOOL1009 F-Series 07 /27 /2009 IEI
A FOm1n12 F. Cariar nR A1 Ann mn
4. Filter the records by interval
Filter %)
rCondition QK
i Cellvalue = |w |0 - Gapcs)
i Expression
Show
~Action to unsatisfied band
m Delete i Hide
~Action scope
i \Work scope i Under parent row
o1 A B C |_
1- 1 |Customer  Model Date sl
FOOL09 Escape 094012010 1381 =
3 FOO1105 Escape 09,21 /2006 1345
4 | FOO1197 Escape 0271172005 301
5 | Fo01245 Escape 07,/17/2003 750
[ FOO1259 Escape 0&,28,/2009 1870
K FOO1496 Escape 12/10/2005 1435
& | FoO159E Escape Ol722/2005 155 -
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5. Calculate the average

o1 = |={Dz}.avgn

Diifiles\geCasesiCalfd.gey

01 A B
- 1 Customer Madel Date
L 2 FOOLO9G Escape 09,/01/2010 1361
L 3 FOO1105 Escape 09,/21/2006 1343
4. Result
D
1162433333

7. Commodity of Out-of-Inventory in a

1. Problem

Month

The tables below are from a simplified supermarket stock control system. To check if the
purchase policy is proper, the supermarket needs to find out the commodity with the longest
cumulative out-of-inventory time in June, and the commodity run out of inventory by 5 p.m. for
over 10 days in a month. The supermarket opens at 8 a.m. and closes at 9:30 p.m. The

out-of-inventory time of non-business hours will not be counted. The desired tables are as follows:

The table below a commodity list is to record info of various commodities.

1D
F2leld Dried Asian Pears

Hame

Wie3eS Ecca Domani Moscato 2011

MFS83 Fresh Salmon Steak

T7es0
WiE306  Conundrurm 2010

E0Z220  Qlympus PEM E-PLS Digital Camera

B1770 Once Burned: & Night Prince Movel

F7504 Antirmo Caputo '00' Flour2.21b /3 bags

B1625 |Cracking the GRE, 2013 Edition

HS02E8 “eronaWall Mirror, Dark Espressao

B1593 The Help

Iy 1ssimo Caffe Coffee Drink, (Pack of &)

Type Price
Fruits &%egetables £3.99
Wines $12.00
Meats and Seafoods $3.99
Tea and Coffee $51.46
Wines £19.99
Electronics £699.00
Books 46.00
Foods $9.27
Books £13.19
Household supplies 543.05
Books $11.00

[in] »

The supermarket replenishes its stock at 5 a.m. every day as shown in the below purchase
table which records the volume of every piece of commodity.
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Datetime ciD Yolume

2012-06-01 05:00:00 ADSE3 5
2012-06-01 05:00:00 B14a7 2
2012-06-01 05:00:00 B1593 4
2012-06-01 05:00:00 B1790 3
2012-06-01 05:00:00 B1945 2
2012-06-01 05:00:00 B2033 3
2012-06-01 05:00:00 B209a 1
2012-06-01 05:00:00 Dygag a7
2012-06-01 05:00:00 D790 15
2012-06-01 05:00:00 075893 39
2012-06-01 05:00:00 D7all dd

-

The table below is about the remaining stock table by the last day of May:

Date D Stock -
2012-5-30 Fa160 43
2012-5-30 VWESES 26
2012-5-30 W7aa3 30
2012-5-30 T7E50 19
2012-5-30 VB3OS 16
2012-5-30 E0230 0
2012-5-30 B1770 1
2012-5-30 F7504 21
2012-5-30 BlE28 1
2012-5-30 HE025 0
2012-5-30 B1599 -

The table below is a detailed sales record of the supermarket:
Datetime ciD Commodity Yolume

2012-06-01 03:02:20 'WE241 Merus Cabernet Sauvignon 2006

2012-06-01 05:04:31 |F&S70  iafYeast

2012-06-01 050712 |F32658 Chives per LB,

2012-08-01 050727 |M7S20 Muscovy Duck Hens 4.1b

2012-06-01 03:09:07  M7E02 All Natural Pork Lain Crown Rib Roast

2012-08-01 081007 |Fefes lolly Rancher Fruit Chews 12 Count Box

2012-06-01 08:14:06 D7937 Grana Padano Parmigiano / pound

2012-08-01 05:14:11 |F70el Raw $age Honey 240z,

2012-06-01 03:15:09 M779L ltalian style Chicken Sausage b

2012-06-01 05:19:03 |FE199 Daikon per LB.

S R A S I IR S T S R R T

2012-06-01 051926 |We36S Ecca Domani Moscato 2011

2. Tips

Rough train of thought: First, create a esCalc grid A. Copy all transaction records into
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the grid (product name can be left out), and calculate the inventory decrement. Delete the
existing column of sales, and keep the format of sales band the same as the purchase band.
Then, add the purchase bands to the same parent band. Sort all bands by the code of
commodity and then group. Calculate the date of each band occurred, and group after
sorting by the resulting date. To facilitate the computation, ensure that each category of
commodity all includes the everyday data of June, and thus a new esCalc grid B is required
to arrange the data. Homo copy the data of commodity categories from esCalc grid A and
homo-paste them to the esCalc grid B. In B, add 30 sub-rows to the rows of commodity
categories to ensure that all data of all days in the month are included at the date-grouping
level. Add a blank sub-row under the date, and set the first cell as the master cell. Through
the join operation, place the sales bands and purchase bands in A into the esCalc grid B,
and then complete the computation in B. In the table of inventory data, set the code of
commodity as the master cell, copy the inventory level data, and add it to the each
commaodity-grouping row in B through joining. In the daily grouping row, calculate the
daily inventory balance and the number of transactions that day. Furthermore, in the daily
grouping row, calculate the time when the commaodity are all sold out that day (i.e. the
inventory become 0), and check if the commaodity are all sold out by the time of 5 P.M. that
day. In the commodity-grouping row, calculate the cumulative time of out-of-inventory for
each category of commodity. Once the commodities are sorted by the time of
out-of-inventory, then you can get the result.

1. Create a new esCalc grid A, and homo-paste all transaction records to the grid
without having to copy and paste the name of commaodity
In column D, calculate the decrement resulting from the transaction
Delete column C to ensure that the transaction bands and the purchase bands are
in the same format

4. Add a blank band after all sales bands, copy the purchase records, and

homo-paste them after selecting the cells.

Group by the code of commodity, and select to sort before grouping

In column D, calculate the day of the month of each purchase and sale occurs

Group by date, and select to sort before grouping

Create a new esCalc grid B, homo-copy the data of commodity-grouping row from A

to B through the homo-paste

9. In B, prepare the bands of each category of commodity of the 30 days and
expand

10. In B, add a blank sub-row under the date, and set the first cell as the master cell

11. Copy the transaction bands in A, then, through the join operation, place it to the
esCalc grid B

12. Filter in B, and then delete the blank sub-row

13. Set the code of commaodity in the table of inventory as the master cell, copy the
inventory data, join, and then paste it to the commodity-grouping row in B

14. In B, in the daily grouping row, calculate the daily inventory balance, number of
purchases or sales in that day.

15. In B, calculate the time when the commodities were all sold out that day (only

© N o O
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count those whose inventory balance becomes 0 that day). If no purchase or
sales occurred that day, then take the total business hours as the
out-of-inventory time (i.e. 11.5 hours). Otherwise, take the time when the last
transaction occurs for calculation.

16. Calculate and check if the commodity were all sold out by 5 p.m. that day (do not
count until the inventory balance becomes 0 that day). If no purchase or sales
occurred that day, then take the 5 p.m. as the time of out-of-inventory; otherwise,
take the time when the last transaction occurs for calculation.

17. In the commaodity-grouping row, calculate the cumulative time of out-of-inventory
of each category of commodity and count the total times of out-of-inventory occurred
by 5 p.m.

18. Set the code of commaodity in the inventory table as the master cell. After the
names of commodity are copied, join, and then paste the names of commodities
to the commodity-grouping row

19. Retract the bands to the row of commodity-grouping, and sort by the cumulative
time of out-of-inventory to get the answer to the problem 1

20. Sort by total times of out-of-inventory occurred by 5 p.m., and then filter to get the
answer to the problem 2

3. Solution
1. Create a new esCalc grid A, and homo-paste all transaction record
o1 & B C | D E F
- 1 ol
i 2 |2012-06-01 08:02:20 | WE241 1 —
il 3 |2012-06-01 08:04:31 | F6E70 1
i 4 |2012-06-01 02:07:12 | FE268 1
i 5 |2012-06-01 08:07:27 | M7E20 2
i & |2012-06-01 08:09:07 | M7E09 2
il 7 |2012-06-01 08:10:07 | FEOEG 2
i 8 |2012-06-01 081406 | D7937 1
i 9 (2012-06-0108:14:11 | F7061 2
L | 10 |2012-06-01 08:15:09 | M7FFIL 3
L | 11 [20012-06-01 081903 FE199 1 |
-
:nlﬁ s peacn s o]

2. Calculate the inventory decrement due to the transaction. Once the calculation is
finished, press Alt+Del to delete the formula in the column D
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o1 A B C | D E F
- 1 ol
2 | 2012-06-01 08:02:20 | V241 1f-c2 —
L | 5 [2012-06-010504:31 FB870 1
L | 4 [2012-06-010507:12 FE265 1
L | 5 |20012-06-010807:27 M7820 2
L | & [2012-06-0108:09:07 M7209 2
L | 7 [2012-06-010510:07 Fe96s 2
L | & [2012-06-0108:14:06 D797 1
L | 9 [20012-06-010814:11  F7061 2
L | 10 |2012-06-0108:15:09 M779L1 3
L | 11 [2012-06-0105:19:03 FE199 1 |
-
:nlm ac a1 ceancc Lweace o]
3. Delete column C
o1 A B C o E
- 1 ol
1 | 2 |2012-06-0108:02:20 ‘w24l | -1 —
1 | 5 |2012-06-010804:31 FesF0 -1
1 | 4 |2012-06-010807:12 FE68 0 -1
L | 5 |20012-06-010807:27  M7E200 -2
1 | & [2012-06-0108:09:07 M7S09 -2
L | 7 |2012-06-0108:10:07 Feses | -2
L | & |2012-06-0108:14:08 D797 -1
L | 9 |20012-06-010814:21  FROSL | -2
1 | 10 |2012-06-0108:15:09 MFFIL -3
1 | 11 |2012-06-0108:19:03 FE199 -1
1 | 12 |2012-06-0108:19:26 'We3s5 = -2 -

4. Add a new band, copy the purchase bands, and then perform the homo-paste

I Faste CAr-Y
1 | 20459 [2012-06-30 21:24.
b | 20470 | 2012-06-30 2128 Homocell paste CArl+At-
L | z0471 | 2012-06-30 21:24: Band paste Ztrl-B
2012-06-30 21:25:
L | 20472 call N
1 | 20475 [/2012-06-30 21:26:
Homuocell F
1 | 20474 [2012-06-30 21:26:
L | 20475 | 2012-06-30 2127 Structure >
1l | 20475 | 2012-05-30 21:27: Eand ¥
20477 Operation >
Pl ANATE
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o1 A B C o E
1 |20471 (2012-06-30 21:24:25 | L7932 -1 -~ |
I |20472 ||2012-06-30 212552 | DFEE0 -3
I | 20473 |20012-06-30 21:26:00 @ F3211 -2
I |zoa7a |20012-06-30 212619 | F7lO02 -1
1 |20475 |2012-06-30 21:27158  F7108 -1
I | 20475 |20012-068-30 212740 | T7e71 -2
ana77 f2012-06-01 050000 | AS5E3 5
1 |zoazs |2012-06-01 05:00.00 @ BL4SY 2
1 |20479 (2012-06-01 05:00:00 @ B1SS99 4
1 |z04s0 |2012-08-01 05:00:00 | BL730 3 —
1 | 204s1 |20012-06-01 05:00:.00 | B194S 2 —
1 |zodsgz |2012-06-01 05:00.00 @ B2033 =] - |
5. Group by the code of commodity, and sort before grouping
oL |2 A B C o E

L] »

fa5731

2012-06-02 093546 | 43731 -1

2012-068-11 13:30:23 | A5731 -1
2012-068-19 20:21:03 | ASYS1 -1

2012-08-20 14:32:47 | ASYS1 -1

2012-06-26 12:36:44 | A5731 -1

2012-068-02 03:00:00 | A3731 2
20012-06-20 03:00:00 | ASYS1 2

=
L I o Y I e T O B A R I e O

- 10 fa5743
L | 11 |2012-06-08132430  AS7A3 | -1 o
o T o O o -l W o ] ol sl ) ACTTAD 1 l
4] I [ ]

6. Calculate the day in the month of each transaction
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oLz A B C B E

L] »

fa5731

2012-06-02 093546 | 43731 -1 =E|E|':.-'|:.-'l'-3b

2012-068-11 13:30:23 | A5731 -1
2012-068-19 20:21:03 | ASYS1 -1
2012-08-20 14:32:47 | ASYS1 -1
2012-06-26 12:36:44 | A5731 -1
2012-068-02 03:00:00 | A3731 2
20012-06-20 03:00:00 | ASYS1 2

=
L I I o Y I e O O B R B I ) O )

- 10 fa5743
L | 11 |2012-06-08132430  AS7A3 | -1 o
o T o O o -l W o ] ol sl ) ACTTAD 1 l
4] I [ ]

7. Group the bands by the resulting dates, and sort before grouping

NAEE 2 B C D E
1- 1 el
r 1=
1- 2 571
- 3 Iz
1 | 4 |[z012-06-0209345 45731 -1 2
1 | 5 |z012-06-02050000  As7AL 2 2
- 6 11
1 | 7 |2012-08-1118:3023  AS7al 0 -1 11
1- 5 13
1 | & |zo12-08-19 202103 as7Il 0 18
1- 10 20
L | 11 |2012-08-2014:3247  AS7AL 0 -1 20 -
o T o O i T M [ = ([ ] Pl ardsl | L | L u] l
4] [ [ (]

8. Create a new esCalc grid B, homo-copy the categories of commodity, paste, and
set the code of commodity as the master cell
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o1 B C D E
- 1 ol
45731 —

3 [a5743

4 |25750

5 [a5781

6 |Asa7

7 |asam1

O =

g [25895

10 5935

11 |'a5998
12 [a020 -

9. Add the sub-row before the row of category, and prepare the row of all 30 days in
the month; After expanding the row of date, press Alt+Del to delete the formula,
and set the number of days as the master cell

o |2 || N el
- 1 ol
1- 2 |57 —
to(30)
- 4 |[as743
5
1- & |s750
7
- g |as7a1
9
r
- 10 |*5827
11 -
FicoTa l
4] I [ ]
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o |2 || N el

F,

IL- 2 AS731

il
N
L] »

=

Elw|m |~ o |w; | &=
[ ST B o BT b BN TV

11

-

il

| Il [Tr] |

a @ oM

10. Add a blank sub-row under the number of days, and set the first cell as the

master cell
o |2 | N e e o
- 1 ol
1- 2 |57 —
- 3 1
1- s |z
r
&
- 7 |3
r
8
1- a |3
r
10
- 11 |5 |
r b
q] Il [ (]

11. Set the time of transaction of esCalc grid A as the master cell, copy the
transaction bands, and perform the full join operation in the esCalc grid B. The
number of days is not required to copy when copying the transaction bands.
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o |2 | WO MO 0 e
- 1 ol
1- 2 #5731 —
1- g
2
2012-06-02 05:00:00 | 45731 2
11
D012-06-11 18:3023 | 45731 -1 11
a2
2012-06-19 202103 | 45731 -1 19
20
D012-06-20 14:32:47 | 45731 -1 20 _|
AT L Ea W el s T = s P aTw M = =1 a A0 Bl
4] [ [ (]
of1]z|z C D E
- 1 ol
1- 2 |57 —
i Leftjoin
i@ Full join Cancel
r ~
q] Il [ (]
of1]z|z |— B C D E
- 1 ol
1- 2 [asrm: —
1- 3 |1
1- 5 |2
e I
7 |2012-06-02 093846 45731 -1
5 |2012-06-0205.0000 AS73L 2
- a |3
10 |
1- 11 |3 -
r Bl
. I [ (]
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12. Filter the blank band

Filter m'
Condition (] 24
® Cellvalue = | |l h Cancel

i Expression

Show

Action to unsatisfied band

m Delete i Hide

Action scope
|7{§} YWork scope i Under parent row

ol1|z]3 |— B C D E
- 1 ol
1- 2 [asrm: —
il 3 |1
- s |2
2012-06-02 09:35:46 | 45731 | -1
6§ [2012-06-0205:00:00 | AS73L | 2
il 7 |3
il 5 |3
L s B
il 10 (&
il 1 |7 -
) Bl
4] Il [ (]

13. Set the code of commaodity in the inventory table as the master cell, copy the
inventory data, join, and paste it to the commodity-grouping rows in B

o S I

- 1 Date CID Stock

(1] »

2012530 | F8le0

.

3 2012-5-30 WE3A5 26
4 012-5-30 | M7EE3 30
c amaEan | T7AEN 10
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olr|z|s &, B H ] E
- 1 ol
l Ta5731 —
il 3 |1
L 4 2
W 1o X
L & | i Lefjoin QK
L 7 o
i Full join Cancel
L & =
L g
il 10
1L J

14. Sort the transaction and purchases bands by date, then calculate the daily
inventory balance and number of transaction occurred that day in the
date-grouping row

ofl)2)3 A BH B E

- 5 |57 1 & |
5 i ] —
5 2 if{#==1,02,C5+{C5}.sumil)

g 012-06-02 050000 | 45731 2

h s 2012060209354 | as7IL | -1

oglr|2|= A B C (] |-

- e 1 - |
s |1 0 1 =
s |z 2 2
5 |2012-06-0205:00:00  AS7IL 2
6 |2012-06-020938:46  AS7IL -1
7 |3 0 2
5 |3 0 2
g |5 0 2
(5 0 2

11 r? ] 2

12 % ] 2 |
L 0 a Bl
4] [ [ (]

15. Calculate the time of out-of-inventory that day in seconds
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04 il CA==0,if{ Bd==0,i nt3600+13 5 intersal @s ({45 M BL), afterdateti me("E' E
12-5-31 21:30:00"),4417),0)

CetfilesigesiCasesical?B.gex :

ol12]3 &
- 1
1- 2 |a5731
z (1 0
- A
5 2
. r
5 |Z01z-08-0z050000  asTRL

16. Calculate if out-of-inventory before 5 p.m. that day

E3 = |=if(I:3==D,if|:E-3==D,true,if(hnuri{#REF!}iBS]]{l?]],faISE]

DifilesigeCases\CalTB.gex

ol1|z2]s &
- 1

r

- 2 |fa573:1 1

1 0 1

r F |

g |2 2 2

r r -

1 | 5 |Zo1z-0s-0zosoo00 asTm 2

1 | & |201z-05-02093845  as7Il 0

17. Calculate the cumulative time of out-of-inventory of each category of commodity

and count the total times of out-of-stock occurred by 5 p.m.

0 = |={D3}.sumn

DifilesigeCases\CalTB.gex

ol1)z]3 &
- 1
l fag731
il 3 |1
1- 3 |2
1 | 5 |Z012-05-02050000  asTEL 2
1 | & |Zo120s02093848 asTE | A

43



RAQSOFT
Innovation Makes Progress http://www. ragsoft. com

EZ = |={E3}.se|ect(~].cnuntn

DifilesigeCases\CalTB.gex

LI e A

l fa5731

i |

o

3
4

L 5 5012-05-02 050000 | A5731 2
& D012-06-02 09:38:46 | 45731 -1

18. Set the code of commaodity in the inventory table as the master cell. After the
inventory name is copied, join, and then paste the names of commaodities to the
commaodity-grouping row

ol &
1- 1 D Hame Type :
3 73\1'6365 Ecca Domani Moscato 2011 Wines
a  |7aas Fresh salmaon Steak Meats
- 1 -
?5?31 Essex 32-Piece Dinnerwvare Combo Set 1 230533
40 "45743  Sensations 16-Piece Dinnerware Set 0 758130
75 "A5750 | Fiesta Scarlet Dinnerware - Set of 4 0 &45830
110 7&5?81 Oneida Augusta 20-Piece Flatware iet 0453021
145 3582? LipperlO Inch Bamboo Lazy Susan 1 393704
185 25871 Tablecraft13.75" Cake Stand S Cover et 1 2751
220 735883 Pyrex Easy Grab 95" Pie Plate 22871
254 T&SBE‘E Magic Chef Buffet Server 1 /54525
207 Facons | BakerEze 6-Piece Mon-stick Bakeware 01205148
332 facoos Pyrex Partables 3-0t Oblong Baking Dish 0 879985
q] [ |

19. Sort by the cumulative time of out-of-inventory descendingly
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o123 put B C H_
- 1 ol
'HE400 | Perfarmance W100S6 &ir Tank Manifald 01455645 30 —
35 'HS693  Sterilite 4-Drawer Cabinet 0 1423705 29
69 rH4283 Deluxe Bath Mat, Clear 01421013 29
102 FFSIS-#E Cedar Delite Back Rest 0 1405400 29
135 rF2544 Mowvelle Mightstand with Drawer 01359524 29
170 'B1733 Between the Lines 0 1331650 29
205 rHSE?? GE Indoor/Outdoor Extension Cord, 50 01379145 28
242 rI'I.I1IZI922 Chuck: The Camplete Fourth Season 01372267 28
279 'F2175  Shoal Creek 3 Piece Bedroom Set, White 0 1360840 28
314 Hzg825  Marlin Purmpkin Spice Bench Cushion 0 1360800 28 - |
4| Il | | ]

20. Sort by total times of out-of-inventory occurred by 5 p.m. descendingly, and filter
after sorting

ofs 2] E- o] o |
2404 |Rules of Civility 1 853651 14 -~
2445 |lnnovera Eight-Digit Calculatar 0 es0400 14 ||
2475 | Trend Wipe-Off Sentence Strips, 30pk 0 &30400 14 1=
2509 [Fiskars Swing Arm Protractor 0 e74979 14
2545 |[Fiesta Scarlet Dinnerware - et of 4 0 845530 13
2550 |ProForm &b Glider Platinum 0 625630 13
2617 [wourzone S oarmn floar lamp, blue multi 0 e20948 13
2654 [lnsurgent 1 8l7250 13
2691 |shaker Dining Chairs, et of 4, Espressa 0 595523 12
2728 |Z2enith Cocktail Table, Espresso 0 594008 12
9765 Under the Sea PEYA Shower Curtain, 0 520044 12 =l
a1 T [
Filter X

Condition QK

i Cellvalue = |w (|10 - Cancs)

i Expression

Show

Action to unsatisfied band

m Delete i Hide

Action scope

im0 Work scope i Under parent row

4. Result
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21.

CID Commodity DosTime ~
H5 488 Performance W8656 Air Tank Hanifold 1455645
H5693 Sterilite 4-Drawer Cabinet 1423708

H4283 Deluxe Bath Mat, Clear 1421813
F3646 Cedar Delite Back Rest 14894408
F2544  Houvelle Hightstand with Drawer 1389824

B1733 Between the Lines 13816508

HSG7 7 GE Indoor/0Outdoor Extension Cord, 58° 1379145

Ma922 Chuck: The Complete Fourth Season 1372267

F217% Shoal Creek 3 Piece Bedroom Set, White 1268848

H3825 Harlin Pumpkin Spice Bench Cushion 1360800

F2551 Elise Bunk Bed, HMahogany 1236317

F2783 Intex HMid Rise Air Bed, Queen 12314768

H5 828 Uerona Wall Hirror, Dark Espresso 13122088

08729  Saunders SlimMate Clipboard, 1', Pink 1274942
22,

CID Commodity DosTimes ~

H5488  Performance WMB856 Air Tank Hanifold an

H5693 Sterilite 4-Drawer Cabinet 29

H4283 Deluxe Bath Mat, Clear 29
F3646 Cedar Delite Back Rest 29
F2544  Houvelle Hightstand with Drawer 29

B1733 Between the Lines 29

HSG7 7 GE Indoor/0Outdoor Extension Cord, 58° 28

Ma922 Chuck: The Complete Fourth Season 28

F217% Shoal Creek 3 Piece Bedroom Set, White 28

H3825 Harlin Pumpkin Spice Bench Cushion 28

F2551 Elise Bunk Bed, HMahogany 27

F2783 Intex HMid Rise Air Bed, Queen 27

H5 828 Uerona Wall Hirror, Dark Espresso 27

08729  Saunders SlimMate Clipboard, 1, Pink 26 Z

8. Auto Scoring for Synchronized
Diving
1. Problem

In a certain men's synchronized 10m platform dive competition, 8 teams of divers need to
compete through 6 rounds of competitions. In each round, the 2-diver-formed team will
compete in the same order. The judge panel consists of altogether 11 judges from Ato K
with the scoring rule as follows: Three judges of A, B, and C score the divers on the left,
following a rule of discarding the highest and the lowest scores and only taking the middle
score as the valid one to reduce the subjectivity of scoring; The other three judges of D, E,
and F score the divers on the right and only keep one valid score as well; The five judges of
G, H, 1, J, and K score the synchronizations. Similarly, the highest and the lowest scores will
be discarded to only keep the three middle score as the valid scores; To calculate the final
scores of the 2-diver-formed teams in this round, calculate the average of altogether five
valid scores, and multiply by 3, then multiply by the degree of difficulty. To this point, we may
take advantage of an Auto Scoring Calculation Sheet, so that once the points of each round is
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inputted, the scores of each team in this round, the ranking of this round, and the ranking
of total points can all be calculated automatically.

The various codes of dives and coefficients of difficulty degrees are given below:

Code DD

1018 20
1038 20
201B 20
201C 20
301B 20
016 20
1078 30
407C 52
5253B [ 3.2
SIE3R | 32
207C 33
307C 33
2078 36
SIESE | 36
109cC 37
SI1S6B | 3.8
409C 41
2. Tips

Position

Pike
Pike
Pike
Tuck
Pike
Pike
Pike
Tuck
Pike
Pike
Tuck
Tuck
Pike
Pike
Tuck
Pike
Tuck

Description
Faryard Dive
Forward 1 1/2 Somersault
Back Dive
Back Dive
Rewverse Dive
Irweard Dive
Farward 3 1/2 Somersault
Itwweard 31,2 Somersault
Back 2 1/2 Somersaultl 1,2 Twists
Back 2 1/2 Somersaultl 172 Twists
Back 3 1/2 Somersault
Reverse 3 1/2 Somersault
Back 3 1/2 Somersault
Back 2 1/2 Somersault 2 1,2 Twists
Farward 4 1/2 Somersault
Forward 2 1,2 Somersault 3 Twists

Itvweard 4 12 Somersault

Rough train of thought: Because the need to prepare the auto calculation sheet, the
data cannot be processed through various operations manually. Only formulas can be used
to calculate the total points, rankings, and other computational goal. Since it is required to
change along with the data input, we need the related formulas. After inputting the scores
of every team, the points can be calculated through the same way: Firstly, look up the
coefficient of difficulty degree according to the dive adopted in competition; Then, sum up
the 5 valid points according to the scoring rule, and calculate the scores of diver teams in
this round; Add the points to the total points of previous round together to get the total
points; Calculate the rankings in this round and the overall rankings of diver teams by
calculating the rankings of points in the current round and the total points.

1. Create a new esCalc grid, and add a sub-row to the 3rd row
2. Homo-paste the coefficient of difficulty degree and code of dive to the sub-row,
so as to get the coefficient of difficulty degree according to the code of dive in

the calculation.

3. Type in the formula =to(6) in the row 2, then perform the expand operation. The
scores of each round need inputting separately.
4. Add a sub-row to the second row, and reserve the room for data input. Set the
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column in which every piece of data is located

5. To facilitate the input, use various background colors to differentiate. When
setting the background colors, just select one row to set the color and the color
will apply to all its homo-rows automatically

6. The coefficient of difficulty degree can be looked up according to the code of
dives. As long as the position of the code of dives in the array is obtained first,
the coefficient of difficulty degree can also be located at the same position. In
the calculation, the related formula is used.

7. Calculate the valid points by the scoring rule. In the calculation, calculate the total
sum first, and then deduct the invalid points, that is, the highest and the lowest
points regarding the 3 types. Then, go ahead to compute the average valid
points. Similarly, we can use the related formula

8. According to the valid average points, calculate the scores and the relevant
rankings of diver teams in the current round

9. Add the scores of this round to the total points of previous round to get the
cumulative point totaling to this round

10. Compute the rankings of all points they collected

11. On inputting the data, the scores (i.e. rankings) of divers can be calculated out
instantly. Once all data are input, the final rankings can be obtained with the data
from the 6th round

3. Solution
1. Create a new esCalc grid, and add a sub-row to the 3rd row
0|1 & B C D E F
- 1
I
-
N
2. Homo-copy the codes of dives and coefficients of difficulty degrees, and
homo-paste them to the 4th row
0|1 & B C D E F
- 1 sl
N
b 3 Code DD T
1| a |101B 20 -
1| 5 |108B 20
1| & |z201B 20
1| 7 |201c 20
1| & |301B 20 |
o 1ANTR 2n l
3. Expand the 2nd row to 6 homo-rows for preparing for the input of point from each

rounds

48



RAQSOFT
Innovation Makes Progress

http://www. ragsoft. com

0ol A, B C o
- 1
2 [Fwois)
- 3 Code DD
L 4 1018 20
o1 A B C O E F
- 1 el
2 1 i
L 3 2
L | 2 |3 B
L g 4
L £ =
L 7 &
- ] Code DD ]
h A I101R 20 -

4. Add a sub-row for each round, and set the column well to hold every data

of1fz & B C|D|[E|F|[G|H|I [
- 1 Dive |~ |
B 2 1 Team Code & B C D E F GH=
i 3 [ |
- 4 2 Team Code &4 B C D E F GF
i 5
- & 5 Team Code & B C D E F GF
i 7
I - 4 Team Cede 4 B C D E F GHv
1] | [ ¥
5. Use different background colors to differentiate
of1fz Fla|H|[ I |t |K|fL|Mm|[n|Oo|r| Oo]| R 5 1
- 1 ||
1- 2 |C D E F G H 1 J K DD &g Score Rank Sum Ran/=
- | 4
- a C D E F G H 1 1 K DD Avg Score Rank Sum Ran
i 5
- & C D E|F G H I ] K DD &vg Score Rank Sum Ran
i 7
h- a C D E | F G H 1 J K Avrg Score Rank  Sum Han:

[To] |

6. To calculate the coefficient of difficulty degree, from the array of coefficient of

difficulty degree, get the coefficient according to the position in which codes of

dives are located
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= if{C31=nul | {B1SH{A15} pos(C3)))

o3

CofilesigexCasesiCall gex

o1z EDEFGHIJKLMNHF‘Q

F N
Code 4 B C D E F |G H | i K DD Avg Score A=
=if(C3l=null (B ||
tode 4 B C D E F G H 1 1 ]E}HME}'WS‘B
radao A =] r [ n] F F [ H 1 1 [ T3 N Aor C‘.rnrn“

7. Calculate the average scores and the total scores of the 11 judges, then deduct
the highest and the lowest points in each scoring range. It can also be obtained
from the sorted positions. Then, the formula will be like this:
==([D3:F3].sort()(2)+[G3:13].sort()(2)+[J3:N3].sort()([2,3,4]).sum())/5.Please notice
that it is the set of cells but not the set of homo-cells ([] instead of {}) in the
formula because the scores from each judge is not in the homo-cell

P3 — =i[DS:NS].sum(]-[DS:FS].min(]-[DS:FS].maxi]-[GS:IS].min[]-[GS:IS].max[]-[JS:N'IE
i nd)-[13: M3 max))s

DifilesigexiCasesiCals.gex i
o)1)z G| H| | K[ L (M| N DH o R 5 T

E F G H | 1 K DD Avg Score Rank | Sum  Rank

=([D3:N3].sum()-[D3:F3].min() | =
b -[D3:F3].max(-[GHI3]min{)-[G

E F G H | 1
3L maEx(-[J3 NI ming)-[J3: NS [
PRI
E F G H | I | K DD

8. To calculate the points and rankings in the current round, simply multiply the
average in this row by 3 and then multiply by the coefficient of difficulty degree
to get the points, and then calculate the rankings of the points in this round with
the ranki function

o = |==|:|3*P3*3 ||:

CofilesigexCasesiCall. gex

o1z C O | E

Code 4 B C D E F G H | ] K DDMgSmre“E

=03*F5
4 3
Code 4 B ©C D | E F G H 1 1 K DD b
| |

Code A4 B C D E F G H | ] K DDnugﬁmrE“
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R3 = F={03ranki (03]

|

DifilesigedCasesiCals.gex &

o1z G| H|[ I |

I

1

1

K DD Avg Score Rank | Sum  Rank |=
=={03 ). ranki(03)
K DD Avg Score

A A e

a4 a4 F

Sum | Rank

9. To calculate the cumulative points of this team, add the cumulative points of a
team in previous round to the point the same team scored in this round.

53 = |==M[ﬁ~2;-11[33;n1+u3

CotfilesigediCasesicald.gex

o1z FlaG|H]|I

K DD Avg Score Rank
1

F | F | F |

K DD Avg | Score

10. Compute the rankings of points each team collected

Sum Rank

~Al[62;1]
[53:0]+03

T = |=={S3}.rankii33]

CotfilesigediCasesicald.gex

o1z FlaG|H]|I

K DD Avg Score Rank

F | F | F | F |

K DD Avg | Score

Sum

Sum

11. Input the bands, when adding a new band, you may use the shortcut Ctrl+Enter
key and the result can be viewed instantly every time you input a piece of scores
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a1z A B |E|D|E|F|G|H|I|J|K|
1- 1 Dive il
- 2 1 Team Code 4 B € D E F G HI_
i 3 ZAKHARDY / MIMIBAEY 201B 75 85 &5 90 85 &5 90 90 8
i 4 Ca0 J ZHANG 1016 95 95 95 95 35 95 10090 9
i 5 HALSDIMG f KLEIN 1038 90 80 |85 80 85 85 90 94 2
& BOUDIA f McCRORY 401B 90 90 95 95 95 90 95 &5 2
- 7 2 Team tode 4 B € D E F G HI
L g
- g 3 Team tode 4 B C D E F G HI
|| 1n E
q i | ¥
a1z E|F|G|H|I|J|K|L|M|N|D|F‘|IIL|R|S|T
L | 27 |90 10090 35 90 90 95 95 90 95 33 92 91031 ‘2'3'3-8‘1 -
1 | 28 |75 75 70 70 &0 &5 80 &0 80 80 36 7.7 63166 186.3 g
F | F| F |
- 29 B C D E F G H | ] K Avg Score  Rank  Sum Rank
L | s0 |90 85 85 85 85 90 85 85 85 80 33 85 84154 ‘2?3-5‘4
L | 31 |90 90 10095 95 10095 95 95 95 33 94 59306 2 ‘294-5‘1 -
L | 2 (75 70 70 65 70 75 75 70 75 80 35 73 78845 ‘2?'3'-1‘5 i
8| 83 (85 90 B0 75 75 90 85 85 85 80 537 83 92133 ‘233-2‘3
=4 |70 75 70 70 70 85 80 80 80 EM 78 (95941 2836 2
4 p y a
- a5 B C D E F G H | ] K DD Aug Score Rank | Sum Rank
T = 1 WEEl |~
1| Il [ |»]
4. Result
Once all data are entered, the result will be as shown below:
o1z & B c |D|E|F|a|H|[I|[J]|K
1| a5 GORSHKOWOZOY / BONDAR 407C 80 85 &0 &5 90 &85 90 90 8-
- A7 [ Team Cede A4 B C D E F G H I
1| s ZAKHARDY / I MIBAEY 109C 80 75 60 70 75 70 90 &5 7
1| a9 L0 / ZHANG S255B 35 85 90 90 90 85 95 95 2
1 | so HALSDING / KLEIM SISSRB0 85 (85 85 85 80 85 90 B
1| s1 BOUDIA / McCRORY SISGRB5 90 (85 90 95 90 90 85 2
1 | sz GARCIA / SANCHEZ SIS6B 7.0 70 65 75 80 70 85 85 8 _)
1 | ss3 AGUIRRE / GLIERRA 5Z55B 35 85 85 90 &0 &5 90 94 8
1 | 54 DALEY / WATERFIELD S255B 30 85 85 85 85 85 85 8o 8
55 GORSHKOWOZOY / BOND&R 108C 75 80 75 75 75 80 &5 &0 7 _
‘] T | ] |
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01|z F|G|H|I|J|K|L|M|N|D|F‘|I1|R|S|T|

1 | a5 |60 &5 20 &5 90 90 §5 90 &5 32 86 8256 8 35 5
F F F| F | | |
- a7 C DD E F G H | ] K DD Avwg Score | Rank | Sum  Rank

1 | ag |60 70 75 70 90 85 75 &5 80 37 |79 67698 44935 ¢
a | A F 4 A

1 | 42 [590 90 90 85 95 95 90 95 95 35 92 9936 1 486.7 1
a | A F | A

1 | so [E5 85 §5 80 85 90 85 &5 85 36 85 91E0 4 4460 7
F i F| F | ¥ |

1 | s1 |65 90 25 20 20 85 90 95 85 36 55 9504 2 4634 3
r | r F| r | |

1 | sz |65 75 &80 70 &5 &5 &85 &5 85 38 80 91206 4689 2
a | A F 4 A

1 | sz [E5 90 E0 85 9.0 90 85 90 80 36 87 9396 3 4303 g
a | A F | A

I | sa [E5 85 §5 85 £S5 80 §5 90 85 36 85 91804 4346 4
A | F| F o |

g5 |75 75 75 80 &5 &0 75 &5 |a.5 57 |80 8380 7 4333 g

F | F F | F | |

i | Il

F
[ »

Homo copy the diver profile, total points, rankings, and then homo-paste them to a
new esCalc grid. When copying, only the scores after the 6th round are required and you
may need to set the work scope. Sort by rankings. Then, the result is as follows:

o)1 & | B | C |
- 1 Team Score Rank

L 2 CAQ f ZHANG 456 .75 1

L 3 GARCIA, J SANCHEZ 453 .90 2

L 4 BOUDIA f MCcCRORY 453 47 3

L 5 Da&LEY / vWATERFIELD 454 .55 4

L f AGUIRRE f GUERRA 450.90 5

L 7 ZAEHARDY f MINIBAEY 4449 558 &

L a HAUSDIMG f KLEIM 446 .07 ¥

L a GORSHKDYOZ0Y / BOMNDAR 433.32 g

9. Sales Data Summarization

1. Problem

A company needs to summarize the quarter sales data of several years by calculating
the quarterly sequential growth rate and year-over-year quarterly growth rate of sales and
gross profit, as well as the annual total sales, annual gross profit and the annual sequential
sales growth rate.

The sales and cost in each quarter are as follows:
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Year Quarter Met sales Cost of sales

2007 ol 78,534 60,237
2007 oz g4,524 64,555
2007 03 §3,943 63,765
2007 04 93,050 75,565
2003 ol 45,335 65,271
2003 0z 91,935 70,551
2003 o3 90,826 63,251
2003 04 106,205 81,277
2009 ol 94,042 71,572
2009 0z 101,546 77,115
2003 o3 a7,619 73,621
2009 04 107,830 81,945
2010 ol 93,471 70,395
2010 0z 100,165 75,056
2010 o3 93,667 73,915
2010 04 112826 85,078
2011 ol 99,097 74,700
2011 02 103,018 7725
2011 03 101,239 75,906
2011 04 115,600 87,1558

In the result spreadsheet, the data is grouped and presented by year as required. The
topmost row of the annual report is the row of header, and the bottommost row is the
summary row.

2. Tips

Rough train of thought: The given data have already been sorted so that users only
need to group the data by year, then insert a slave row into the year section, and move it
downward to make room and structure the spreadsheet. To calculate the data of each
quarter, simply type the formula into the row; To calculate the quarterly sequential
growth rate and year-over-year quarterly growth rate of sales, users can take
advantages of the displacement function L[A;x].To calculate the annual summary
data, the summary calculation for sequence of homo-cells can be adopted to achieve the
goal. The sequential growth rate of annual sales can be calculated in the same pattern as
that to compute the quarterly rate.

1. Group the data by year, and select not to sort before grouping to avoid the
unnecessary calculation

2. Append a slave row in the annual band, move it downward, and set the colors of
foreground, background, border, and other appearance

3. Change the text in the year header to "Fiscal XXXX", which can be done all at
one time with an expression. The year in the expression can simply be
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represented with the child row
4. Once the computation is completed, press Alt+Del to delete the expression in the
header of year
5. The data of each quarter are already in the corresponding year group, the "year"
of data in each quarter can be deleted. To do so, just remove the cell

© © N o

Calculate the profit of each quarter
Calculate the sequential sales growth rate in each quarter
Calculate the year-over-year quarterly sales growth rate

Calculate the total sales of each year

10. Calculate the total gross profit of each year
11. Calculate the annual sequential growth rate of each year

3. Solution

1. Group the data by year, and select not to sort before grouping. One thing to note
is that the display format “# ###.#" is set for the sales data in the esCalc grid.
Users can display it in sections to have a more clear view

o)1 & B C o
- 1 Year Quarter Met sales Cost of sales
2 2007 a1 75,834 &0,237
L 3 2007 12 54,524 &4,535
W Group E| 63,765
L [] 50t hefore group Qe 78268
i 65,271
L L] Cancel 70551
i ] 9,251
L gL1277
i 71,372
h an Annn A 1M1 Eas w7112
oyl |z & B C o
- 1 Year Quarter Met sales Cost of sale
| - 2 2007
i 5 2007 a1 78,334 &0,2
i | 2007 0z 54,524 54,5
L 3 2007 03 3,243 a3,7
L £ 2007 04 95,090 755
- 7 (2008
i & 2008 a1 85,335 65,2
i g 2008 0z 91,238 70,5
L 10 2005 a3 90,5326 69,2
h an Ann ma 1As Ane a1 A

2. Append a slave row under the year band, then move it downward, and set colors
of foreground, background, border, and other appearance properties
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L

[=]

AN

SR

R

- 7 Jz008 |
L & |l setCancelwaork scope 65,271
L ? Select hormocell 70,551
L | 1o )
1 23 Copy Ctrl-C +3 Append sub row
- 12 |0 Homocell copy Ctri+AR-C Dismantle master row
I 13 Insert slave row
L[ 14 5 Append slave row
L 15
Femuove slave row
L 16
- 17 |=0 Cell b _-'g Dup slave row
I 1a Haormacell b Move slave row LR
L 19
Structure ¥ hlove slave row o own
11 an
| & |
. g =008 | setiCancel wark scope
L 10 2 Select homocell 65,271
L | 11 y R ge
=3 Copy Cirl-C =5 Append sub row
L 12 2
Homocell copy Clrl+Alt-C
L 13 4
1 14 Insert slave row
- 15 |=009 ‘% Append slave raw
L 16 2 Femuaove slave row
L 17 4
Cell I =
T - I Dup slave row
L | 19 3 Hornocell b tove slave row up
I 20 Structure k howe slave row down
r___
[ I A B C D
- 1 Year Ouarter Met sales  Cost of sales ||
- 2 |2007 3
L 3 2007 o1 75,834 B0,237
L 4 2007 oz 54,524 64 5585
L 5 2007 a3 53,543 63,765
L & 2007 04 93,090 75,565
4 7
- & |2008
L 9 2008 a1 85,335 65,271 —
-

3. Use formula to modify the text in the header line. Please notice that number must
be converted to character strings while concatenating the character strings with
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the number

A ="Fiscal "+stringi.¢3]|

CotfilesigediCasesiCaly. gex

[N I R s B C o
- 1 Year Ouarter | Met sales | Cost of sales
"Fiscal "+string(A3)
L 3 2007 o1 75,534 60,257
L 4 2007 0z 84,524 54,5585
I 5 2007 a3 g3.543 63,765

4. Once the computation is completed, delete the formula in the year header line

B2

CotfilesigediCasesiCaly. gex

[N I R s & H C o
- 1 Year Ouarter | Met sales | Cost of sales
Fiscal 2007
L 3 2007 o1 75,534 60,257
L 4 2007 0z 84,524 54,5585
I 5 2007 a3 g3.543 63,765

5. Select the data of "year" in each quarter, and press Ctrl+Del to remove this cell in
the quarter band, and then this cell of all homo-rows will be removed; Then, you
can notice that the corresponding changes are required since the header in the

first row becomes unmatched to the data

o1z _ B C D
- 1 Year Ouarter | Met sales | Cost of sales
1- 2 |Fiscal 2007
3 ol 758,834 60,237
q oz 54,524 64,555
5 03 83,543 63,765
] 04 93,090 75,565
P 7
1- 5 |Fiscal 2008
o1 85,355 63,271
! e A amn o era

1]
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o1z & B C
- Het sales | Cost of sales
1- 2 |Fiscal 2007
L 3 0l 758,834 60,257
L 4 0z G4,524 64,585
L ] 03 G3,543 63,765
L 3 04 95,000 75,565
& 7
1- s |Fiscal 2008
L 9 0l 83,335 65,271

-

6. To calculate the gross profit of each quarter, simply use the data in this row to
compute and formula are only required to write once

03

=B3- 3|

L

CetfilesigesiCasesiCald gex

o1z & B C H
- 1 Het sales | Cost of sales  Gross pfofit
1- 2 |Fiscal 2007
a1 758,834 60,237 FB3-5
4 oz 54.524 &4 535

7. To calculate the sequential growth rate of sales in each quarter, in the formula,
users can use A1[B3;-1] to represent the sales of previous quarter. Since the Al

is at the level 0, it is allowed to cross the year level. In this example, for those

whose results are in percentages, the display format is set to "#.#%"

E2

= (B3-A1[B3-1])/AL[B3:-1]

CofilesigexiCasesiCaly gex

- 1 Met sales  Cost of sales  Gross pfofit Het sales increase ||
1- 2 [Fiscal 2007
ol 758,834 G237 15,597 F(B3-A1[B3-1]) /41 [B3;-1]
4 0z 54,524 &4 555 19,939
5 03 83,543 63,765 19,778
& 04 95,090 75,565 22525

8. To calculate the year-over-year quarterly growth rate of sales in each quarter, in
the formula, users can use A1[A2;-1] to represent the sales of the previous year,
and the A1[A2;-1][B3;0] to represent the sales in this quarter of the previous year
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Fi = FIB3-A1[A2;-1][B3;0])/A1[42;-1][B3;0]] |:

CofilesigexiCasesiCaly gex

o1z A B C o E H
- 1 Met sales  Cost of sales  Gross pfofit Het sales increase ||
1- 2 |Fiscal 2007 3
oL 78,334 60,237 18,597 BEAlA2|
3 0z 54,524 64,555 19,939 7.2% A]Z‘[Bf]l[:lé]; ’S‘]” B
5 03 f3,543 63,765 19,778 -1.2%
& 04 95,090 75 565 22525 17 4%
9. To compute the total sales in each year, the {B3} in the formula represents all
quarterly sales data in this year
BT = FiEstsum]| |:

CoifileswgexiCasesiCaly gex

[ e R s & H C o E F
- 1 Met sales  Cost of sales  Gross pfofit Het sales increase |
- 2 |Fiscal 2007 1
L 3 o1 758,834 G237 15,597 1
L 4 02 G4,524 &d,555 19,939 7% ]
L 5 (W] 53,543 63,765 19,775 -1.2%
L & 04 95,090 75,565 22,525 17.4%
= B3 sum ()
1- 5 |Fiscal 2008
L 9 o1 85,335 65,271 20,054 -13% 5.2% -

10. To compute the gross profit of each year, since the computation goal is the same
as that of total sales computation to sum up the sales data in the same column of
this year, an alternative is to copy B7 cell and paste it to D7 to get the same
result.
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07 ={03tsumi)

E

CoifileswgexiCasesiCaly gex

[ e R s & B C I_ E F
- 1 Met sales  Cost of sales  Gross pfofit Het sales increase
- 2 |Fiscal 2007
L 3 o1 758,834 G237 15,597
L 4 02 G4,524 &d,555 19,939 7%
L 5 (W] 53,543 63,765 19,775 -1.2%
L & 04 95,090 75,565 22,525 17.4%
344,991 L(D3}.5um ()
1- 5 |Fiscal 2008
L 9 o1 85,335 65,271 20,054 -13% 5.2%

1]

11. Calculate the year-over-year sequential growth rate

ET

L {B7-A1[B7-1])/41[B7;-1]

CoifileswgexiCasesiCaly gex

0o ]2 » | e | e | o e |
- 1 Met sales  Cost of sales | Gross pfofit Het sales increase |~
- 2 [Fiscal 2007 |
L 3 a1 75,834 G237 15,5397 1
L 4 02 gd,524 &d,555 19,939 V2% B
L 5 (W] 53,543 63,765 19,775 -1.2%
L & 04 95,090 75,565 22525 17.4%
344,991 §0,5839 F{B7-41[B7;-1]) /41[B7;-1]
1- 5 |Fiscal 2008
L 9 o1 85,335 65,271 20,054 -13% 5.2% -
4. Result

The results are shown below:

60



RAQSOFT
Innovation Makes Progress

http://www. ragsoft. com

o1 |2 A B | C | o | E | F |
- 1 Met sales  Cost of sales  Gross pfofit Het sales increase =
1- 2 [Fiscal 2007
L 3 a1 758,534 60,237 158,597
L 4 02 44,524 ad 555 15,539 T2%
L 3 03 43,243 63,765 19,778 -1.2% L
L f 04 Q5,090 75,565 22525 17.4%
H 7 344,991 80,839
- 5 |Fiscal 2008
L 9 0l 35,335 65,271 20,004 -13% g.2% |
L 10 02 91,935 70551 21,387 7 8.8%
L 11 03 0,526 69,251 21,575 -1.2% 8.7%
L 12 04 106,205 g1,277 24,931 16.9% g.3%
I 13 F7 4,307 &7,957 8§.5%
1- 14 |Fiscal 2009
L 15 a1 24,042 F1,372 22,670 -11.5% 10.2%
L 16 02 101,545 Fr 115 24,428 g% 10.5%
h 1= 03 97619 Fa=i-val 23908 -S89 S

Homo copy the diver profile, total points, rankings, and then homo-paste them to a
new esCalc grid. When copying, only the scores after the 6th round are required and you
may need to set the work scope. Sort by rankings. Then, the result is as follows:

o)1 & | B | C |
- 1 Team Score Rank

L 2 CAQ f ZHANG 456 .75 1

L 3 GARCIA, J SANCHEZ 453 .90 2

L 4 BOUDIA f MCcCRORY 453 47 3

L 5 Da&LEY / vWATERFIELD 454 .55 4

L f AGUIRRE f GUERRA 450.90 5

L 7 ZAEHARDY f MINIBAEY 4449 558 &

L a HAUSDIMG f KLEIM 446 .07 ¥

L a GORSHKDYOZ0Y / BOMNDAR 433.32 g

10. Month-end
Production-Supply-Sales Accounting
for an Electric Appliance Store

1. Problem

An electric appliance store needs to calculate a list of month-end closing inventory, on
the basis of the month-beginning opening inventory, sales this month, and purchase this
month. In addition, calculate the capital tied up in inventory of each commodity according
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to the average replenishment cost this month.

The month-beginning opening inventory is as follows:

D

Electrical equipm ent
Element 19" Class LCD 720p 60Hz HDTY
“izio 32" Class LCD 720p a0Hz HDTY
Philips 19" Class LCD 720p a0H: HDTY
Sanyo 26" Class LCD 720p 60Hz HOTY
Hisense 24" Class LCD 1080p 60Hz HDTY
“izio 42" Class 30-LCD HDTY 1080p 120H:

Stock

Apple iPod Touch SGE
Apple iPod dassicle0GE
Apple iPod Nano 8GR

Dall leenicon Cea 3300 Dioclkton DC

m R ] [u] | [=)] on = o ] =

=

10

A same product may be sold at various prices in various transactions. The sales data of
this month are as follows:

Date
03,/01,/2012
03,/01,/2012
03,/01,/2012
03,01, /2012
03,/02,/2012
03,/02,/2012
03,02 /2012
03,02 /2012
03,/02,/2012

a2 s A1

Electrical equipm ent
CvberpowerPC GLAZSO Desktop PC
Lepan TCA70 97" 1GHz: 2GR
The new iPad, Wi-Fi, 32GB, Black
T-Mobile Samsung Dart T499 Prepaid
Sanyo 26" Class LCD 720p &e0Hz HDTY
Lepan TCA70 97" 1GHz: 2GR
BlackBerry PlayBook PEOOKLE-M-A01 7.0"
T-Mobile Samsung T679 45 Prepaid
LG Prepaid rivTouch O Smartphone

|l ammen TOOFO 0 PN 1 CH T h

CustomerlD  Ouantity Price

W PO7E5 1 $495.00
Co04775 2 $230.00
coolrad 4 $599.00
W PO453 f $113.00
CoO1e?7 4 $192.00
Co01366 2 $240.00
WIPL230 4 549900
Coo1e?? 4 $189.00
Coooles 7 $211.00
LA DO7EC =] S2AN N0

A same product may be purchased at various prices in various transactions. The
purchase data of this month is as follows:

Date
03,/01,/2012
03,/01,/2012
03,/01,/2012
03,01, /2012
03,/01,/2012
03,/01,/2012
03,/01,/2012
03,01, /2012
03,/01,/2012

a2 A A1

2. Tips

Electrical equipm ent
Sanyo 26" Class LCD 720p &e0Hz HDTY
CvberpowerPC GLAZSO Desktop PC
Lepan TCA70 2.7" 1i5H: 2GR
Corpaq 156" COS?-339WM Laptop PC
The new iPad, Wi-Fi, 32GB, Black
BlackBerry PlayBook PEOOKLE-M-A01 7.0"
BlackBerry PlayBook PEOOKLE-M-A01 7.0"
BlackBerry PlayBook PEOOERLE-M-A01 7.0"
T-Mobile Prepaid Samsung T139

T-fdohilas Coracimna TETO AT Dransid

62

Ouantity Supplier
G Gilden Limited
4 | smith Holding
40 Gilden Limited
17 |Gilden Lirmited
15 ML 'Wholesale
2|TEPS Electric
1 MLWholesale
1 Srnith Holding
9 Smith Holding

10 Semith Holdivr

Price
$160.00
$350.00
20000
5280.00
5470.00
$360.00
420,00
380,00

530.00

AN N0
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Rough train of thought: Firstly, copy the given sales & purchase data in this month to
the sub-rows of various master rows of an esCalc cellset. Then, total up the amount of
every sale and purchase transaction respectively. Copy the month-beginning inventory
data, paste and place them into the sub-rows of another master row. According to the
names of products from the inventory data, calculate the sales & purchase volumes and
amounts this month. Calculate the month-end remaining inventory, and the average
purchase cost this month. Calculate the capital tied up in inventory of each commodity.

1. Build a new esCalc cellset, and append slave rows to the level 0 till the total
number of slave rows at the level 0 reaches 3; Add the sub-rows to ensure that
every row at 0 level has a sub-row
Copy the sales data of this month and homo-copy it to the esCalc cellset
Calculate the sales amount of each transaction

4. Copy the purchase data of this month, then homo-paste it to the esCalc cellset,
and place them in the rows under various parent rows holding the sales data

5. Calculate the amount of each purchase

6. Copy the data of month-beginning opening inventory, then homo-paste it to the
sub-row at the bottom most part of the esCalc cellset

7. According to the names of commaodity from the inventory data, calculate the sales
volume of each commaodity in this month
Calculate the total sales amount of each commodity this month
Calculate the total volume of purchase in each commaodity this month

10. Calculate the total amount of purchase in each commodity in this month

11. Calculate the average purchase cost of each commaodity this month

12. Calculate the month-end remaining inventory of each commodity

13. Calculate the capital tied up in inventory of each commodity

3. Solution
1. Build a new esCalc cellset, and append slave rows and child rows
o1 A, B C ]
B 1
i 2
SEERNE
i 4
3_
1| 6 |

4| M | [ »

N

Copy and paste the text from the sales header line, and then copy and
homo-paste the sales data of this month
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o1 A B C
L 0 vme  Seciolowmen  Conme o -
03,/01,/2012 CwberpowerPC GUAZXS0 Desktop PC OS5 1 —
3 03,/01,/2012 Lepan TCO70 97" 1GHz 2GR COOA775 2
4 |05/01/2012 The new iPad, Wi-Fi, 32GB, Black CCOL744 il
=) 03,/01/2012 T-Mobile Samsung Dart T499 Prepaid I P0AS3 =]
£ 03/02/2012 Zanyo 26" Class LCD 720p 60Hz HDTY COO1&77 4
7 03/02/2012 Lepan TCO70 97" 1GHz 2GR CO1366 2
i 03,/02/2012 BlackBerry PlayBook PROOKLE-N-401 70" | FL230 4
9 03/02/2012 T-Mobile Samsung TE73 45 Prepaid CO01677 4
qp  |05/02/2012 LG Prepaid myTouch O Smartphone CoO0169 7 E
q| Il | [ ]
3. Calculate the sales amount of each transaction
F7 = FE2+07 |:

CetfilesigeiCasesiCcal 0.gex

1]

1

1

C O
W PO7E5 1 £403 00 FE2+02

Co04775 2 $230.00
Coolra4 4 $599.00

VAmmACD = (2l =Tyl

4. Copy and paste the text from the purchase header line, and then copy and
homo-paste the purchase data of this month

o EE S [ S I B
165 |03/31/2012 FujiFilm FinePix 52940 Digital Camera COO3077 )
166 |03/31/20012 TaormTor ¥<L5S0M 50" Partable GRS CO04643 1
167

03/01/2012 Sanyo 26" Class LCD 720p 60Hz HDTY g Gilden
169 |03/01/2012 CyberpowerPC GLUAZS0 Desktop PC 4 srith
170 |03/01/2012 Lepan TC970 97" 1GHz 2GE 40 |Gildenf
171 |03/01/2012 Cormpagl5.6" COS7-339wWI Laptop PC 17 Gilden—
172 |03/01/2012 The new iPad, wi-Fi, 32GB, Black 15 ML
173 |03/01/2012 BlackBerry PlayBook PEOOKLE-M-401 7.0" 2 TEPS
174 |03/01/2012 BlackBerry PlayBook PEOOKLE-N-401 7.0 1ML |-
q| Il | [ ]

5. Calculate the amount of each purchase
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F1B8 — FEl6a*C168 [

CofileswgexdiCasesiCal 0.gex

02 : 0 I e :
L | 165 | coozorr 6  $155.00 $930.00 -]
il 166 CO0da48 1 %154 .00 %154.00

& Gilden Limited

$160.00
169 4 Smith Holding £380.00

El65+C165

6. Copy the data of month-beginning opening inventory, then homo-paste them to
the sub-rows at the bottom most part of the esCalc cellset

o R T T
1 | 254 [03/30/2012 Mikon COOLPIX $9100 Digital Camera g TEP: |
b 255 D Electrical equipm ent StockBegin
1 Element 18" Class LCD 720p 60Hz HOTY &
2B7 |2 “izio 32" Class LCD 720p 60Hz HDTY 2
65 |3 Philips 19" Class LCD 720p 60Hz HOTY 10
260 |4 Sanyo 26" Class LCD 720p 60Hz HDTY 3
270 |2 Hisense 24" Class LCD 1080p 60Hz HDTY S
271 |6 %izio 42" Class 30-LCD HOTY 1080p 120H: 3 =
272 |7 Apple iPod Touch SGE 3 |
273 g Apple iPod classic 1e0GhE 10 E
q| Il | [ ]

7. According to the names of commodity from the inventory data, calculate the sales volume of
each category of commodity this month. In the expression, {B2} represents the names of
commaodity involved in all transactions according to the sales data
available ;{B2}.pos(B266) is to find the sequence numbers of transactions of certain
commaodity according to the names of the commodity in the B266. With @a option, all
positions meeting the conditions will be selected out;{D2} is the sales volume of products
from all sales data available; {D2}({B2}.pos(B266)) can be used to calculate the sales
volumes of specified commodity among all sales data available this month; With sum() for
sum-up, the total sales volume this month of the given commodity can be obtained.
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D266 = FiD2}{B2}pos@alB26a)).sumi) |:

CotfilesigeiCasesical 0.gex

s E' © |m—

L 264 |Mikon COOLPIX 39100 Digital Camera & TEPS Electric 1 |
. 255 Electrical equipment StockBegin Sale Yolume
Element 19" Class LCD 720p 60Hz HOTY 6 Ma(
557 |Vizio 32" Class LCD 720p 60Hz HOTY 2 ALY

266 |Philips 19" Class LCD 720p 60Hz HOTY 10
269 | Sanwo 26" Class LCD 720p 60Hz HODTY 3

270 |Hisense 24" Class LCD 10280p 60Hz HDTY 5

D266 = FiD2}{B2}pos@alB26a)).sumi) |:

CotfilesigeiCasesical 0.gex

s E' © |m—
L 264 |Mikon COOLPIX 39100 Digital Camera & TEPS Electric 1 |
. 255 Electrical equipment StockBegin Sale Yolume
Element 19" Class LCD 720p 60Hz HODTY & 15
257 | Wizio 32" Class LCD 720p 6e0Hz HDTY 2 9
2gs |Philips 19" Class LCD 720p 60Hz HDTY 10 23
269 | Sanwo 26" Class LCD 720p 60Hz HODTY 3 )
270 |Hisense 24" Class LCD 10280p 60Hz HDTY 5 19

8. Calculate the total sales amount of each commodity this month by the same
means to calculate the sales volume.

EZ6E = FiF2H{B2} pos@aiB2aa)).sum) |:

CotfilesigeiCasesical 0.gex

s : O I R

L | 254 & TEPS Electric $140.00 £340,00 - |
5 255 | StockBegin Sale Yolume  S-Amount
A 15| %1,950.00
267 |2 9 3262500
266 (10 23 $3,585.00
26a9 |3 9 $1,725.00
270 |5 19 %2,395.00

9. Calculate the purchase volume of each commaodity this month
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F266 =

{264 {B264 ) pos@a (B26E) ). sumi)

E

CotfilesigeiCasesical 0.gex

o)1 C C E H
L | 254 & TEPS Electric $140.00 £340,00
5 255 | StockBegin Sale Yolume  S-Amount P-Yolume
A 15 %1,950.00 21
267 |2 9 52625.00 13
266 (10 23 $3,585.00 3l
269 |3 9 $1,725.00 12
270 |5 19 %2,395.00 26

10. Calculate the total amount of purchase of each commodity this month

[ b

G2ET =

(F264 {B264 ) pos@a (B267)).sumi)

CotfilesigeiCasesical 0.gex

L | 254 & TEPS Electric $140.00 £340,00
5 255 | StockBegin Sale Yolume  S-Amount P-Yolume P-é&m ount
266 |6 15 %1,950.00 21 4$2,100.00
2 9 52625.00 13 $3,250.00
2aa (10 23 $3,585.00 31 $3,600.00
26a9 |3 9 $1,725.00 12 $1,550.00
270 |5 19 %2,395.00 26 $2,570.00

11. To calculate the average purchase cost of each commaodity this month, just simply
divide the total amount of purchase by the total purchase volume this month.

HZEE =

=266 F266

E

CotfilesigeiCasesical 0.gex

1 | 254 |TEPS Electric $140.00 £840.00
5 265 Sale Yolume  S-Amount  P-Yolume P-fimn ount PauvgPrice
15  51,950.00 21 $2,100.00 $100.00
267 9 52625.00 13 $3,250.00 $250.00
265 23 $3535.00 3l $3,600.00 511613
269 9 3172500 12 $1,560.00 $155.00
270 19 5239500 26 $2,570.00 $083.85

12. To calculate the remaining inventory of each commodity at the end of this month,
add the initial inventory to the purchase volume and then deduct the sales

volume.
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||255 = |=t255+F255-0255

CotfilesigeiCasesical 0.gex

$140.00

21

$2,100.00
13 $3,250.00 $250.00
31 $3,600.00 $116.13
12 $1,860.00 $155.00
26 $2,570.00 $95 85

e

13. Calculate the capital tied up in inventory of each commodity.

|J255 = |=H255*|255

| [

[ b

$2,100.00 $100.00
$3,250.00 $250.00
31 $3,600.00 $116.13
12 $1,860.00 $155.00
26 $2,570.00 $95.85

4. Result

The result is as follows:
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o]l fut B C | o
- 1 D Electrical equipment StockEnd Store cost

L 2 1 Element 19" Class LCD 720p a0Hz HDTY 12 §1,200.00
L 3 2 Yizio 32" Class LCD 720p 60Hz HDTY 6 %1,500.00
L 4 3 Philips 13" Class LCD 720p 60Hz HDTY 13  52,000.32
L 5 4 SFanyo 26" Class LCD 720p 60Hz HOTY & 2930.00
L f =) Hisense 24" Class LCD 10680p a0Hz HOTY 12 5118615
L 7 & Yizio 42" Class 30-LCD HDTY 1080p 120Hz 9 3483250
i g |7  AppleiPod Touch 8GE 9 $119571
i 9 |&  AppleiPodclassicl60GE 14 5263200
I | 10 |9  AppleiPod Nano 8GE 10 483333
L 11 (10  Cell Inspiron One 2320 Desktop PC 11  %5,610.00
L 12 |11 Wizio Silver CAXY-AQ Desktop PC 10 &5540.00
Il | 13 |12 ZT Affinity 870 Desktop PC &  $6,320.00
L 14 (13 HP Pavilion p?-1003wb Desktaop PC 5 42,835.39
L 15 |14 Dell Refurbished GX520 Desktop PC 12 5144000
L 16 (15 CvberpowerPC GUAZE0 Deskitop PC 4 5157143
I | 17 |16 ZT Affinity 850 Desktop PC 2 $1,053.33
L 15 |17 Lenowo ThinkCentre MSS Desktop PC g  &1,920.00

. I D
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